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1) First nnTpn
@) 2377 NPT Was 9T 0n 2R3 v in the second year o°x¥n XX
2) Second TP

a) There was no ™27 to wn starting with o°237n n7°13 and ending on ax21"v of mw
'n when the m12>7 was nn

3) Third mm7pn — 80

WN OY 7127 V7 RD 9277 2NN 190 KW TV 0 MART KT ORM AR WY W
"3 QYT 2901 MRY annDRan WIR 9 van AwRd 50 2°0n007

4) no>°R wTn as understood by o"awA
a) nwb of o"awn

29V 93 %1% "7 AKRT 7907 12 HYaw 2 AR WA - 0277 N 12 190w
11727 NN 172 PV P90 197 IR D377 REPY 1172 797 AR YWD
77701 VDY APK 1" IRTAN INIX TRTI2 1T 2NN A Q1M 1972 RYY
10 WY AR TIWA T 7 00T 7wt 01 7w v maw Wy 791 maw 902
22191 X2 79112 2 191 AR VY RAW 1R DMWY IRXNAN JARY 1T
T2 WITPA D002 112K X770 HNNORT 1172 R0 ORNIRT TV 721 A2 1

0" TR SNWR WYY IV AWR AT MR KT

b) 2°v9» of the 12712 Mnn according to a"awn as explained by msoin

i) 15,000 and a fraction died each ax2 v — on ax2 'v 27y a 115 was Xx1 and they
were n17°01 1917 etc.



ii) axa'v of '3 mw was the day of the first mn>» — since 2237 n 1 happened on
2X2 v of "2 mw so that a 112 couldn’t be X¥1° on 283 v 27w of '2 mw and
besides it’s ynwn from the 7105 that only 727 *&°x died in 2 7w

iii) The final mn>» under the 713 were on ax2 'v of v"? N — but 7277 17 didn’t
know this until when &27°0 X520 on 282 1"v in ' maw and they were confident
that axa 'v of ' maw had passed and there were no further mn» in the m~omn —
and it’s then that they made the fnnwy nnwn mentioned in 72°K WA

iv) m12>71 nn followed on axa 1"v but wasn’t the cause of the nnnw nnwn
5) mooin
a) o°vo of the 722 mnon
1) There was no fixed number of mn>» each year
i) mn continued also on axa v in " mw

iii) after the mn>» in '» mw they realized that all those who had been o>mwy 12 at
the time of the 77°1x had died and they were m?>axa until o177 nxpn of ax2 1"

iv) The m12>7 wasn’t 7 until 282 1"v because &1 Mm%y TNk XY 77 300w PR
mMaxy 7inn — and it’s the M2°77 n1n at the end of the N ax that was the cause
of the annw1 anwn — not the final realization on ak2 1"y that there’d be no more
mnn

b) xwp to a"awn according the X073 of 7"2m

i) Since n"apn knew 913°22 in v"% maw that the mn» had stopped — why was narmn
T12>77 delayed "any maw" —another year — for 38 years instead of 37 years —
until 282" Iin ' mw

C) ®wp to o"awn according to our X0 in MOdIN

i) Since n"apn knew 915°22 in v"% maw that the mn» had stopped — why was narmn
T12>777 delayed "0 maw" more than a year from axa 'v of v"% miw to axa 1"v of
'n mw

6) X"wann
a) xwp to the x°wp of moown according to our &0 in MooIN

i) based on MK in v"7 mw the M7 couldn’t have returned before 282 1"v in
v'"> mw

b) 10 to explain the x*wp of m»doIn
1) We’ve established that 73°X w71 doesn’t agree with maoin that the m12°7 was
delayed by m>»ax
qQ7x 770 TIVI T"N2 NID90IN "2 770 12N 'NNT X'AI0

NN FTIWRD TR 5 DOy "D 7 BIMWDY OBR 'Y T T7''N2
72977 INOZIM 7 IR TIDANRD INN RDT AR 2993 NOTA TR 7Iwa 23
TUTATR 190 12 RV 157 2V 292 71T ININD W TR RDT TN
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:%'"™) NUIYn noon NI0a
1) Twnn of woin
a) Nwp to the 7w of o"awn that a fixed number of persons died each year

i) Since for 72°)k w7 the mno» of more than 600,000 persons continued for 37
years instead of for 38 years the correct number of mn»» per year was 16,000
and a fraction instead of 15,000 and a fraction

b) yyon —"nmn% »in"

i) In the first 36 years the mn>» were at the rate of 15,000 plus a fraction each
year

i) But in the final year "mn% »n" and the mno» were at double that rate
INnI7 "X T'NA NISOIN ‘A 270 12T 'MNT X0

MR ROy "D T AT T IR D02 "D 29BN YU Y R 7''Na
STIMRT IR KRR DR NI KDY 2IXNANA 10912 77 191D IR KDY 2R T
VINWINDY AR 'Y P ARID IR KDY IR 'OD 2ot IRDRR 2320 1 N2
RO27Y 'OINT NOWNIP 32 PONR SINTM 77D D02 NRIM 21 IR D2 1o
RY 010 X2 NI KD "D 012 1R ININ PO 202 197 KD INT IR NP NN
2NIN 2RIYD WIS 22 I AR VWMDY OBK Y'Y PN IR B2 ann on
TARPT YRWRTD 2P 2nRY 2N 28 WIS AR IR NN 29NRT

12T 2T IR INAT BTN
1) First nnTpn

a) We established for o"awn that a fixed number of 15,000 and a fraction persons
died on 282 'v each year

2) Second mnTpi
a) nowin up 7Y says that "inn oww 212 790"
3) Mmoo — Rwp

a) It follows that the 15,000 plus a fraction that died each year were born 60 years
earlier and this is a 217 w17

4) X"wan
a) 71170 to the xwp of mooin



i) n%wr doesn’t mean that the 15,000 plus a fraction who died each year were
60 years old — the w7 means that they were at least 60 years old

ii) In fact the 15,000 plus a fraction who died each year — even in the first year —
included persons who were more than 60 years old

b) Here’s proof by 175 ik 1 150

i) if only persons aged exactly 60 years died each year then it was known in
advance who would die each year and why would 712°) w272 say that all
persons were 0°72p 017 and those that didn’t die were told 1 0*n77 19720
apalahy

TIVI TN NI9OIN T 770 72T 'MNT X'AI0

B2 H'"oY 1D 90 IRW RDR IR 27T VIR IR N0 RPW TIXY 7''N2
SI23757 1D SITART TN RDT AW FOOR WNTAT 9T B 2w 'ownn
SRR 77907 BYa 2''9Y RUTOD OHRANRD IR TITAT DIWO2 215N ROUR WY

TPIYTY 9N TR 72 RTRWAR DA

1) mooin — another xwp to the v w of o"awn

a) We’ve established for o"aw that the 7nnw on 2821"v in ' naw had nothing to do
with 212°77 N

b) this is a pm7 based on the 1w of the X mentioned earlier
NNNY NN TIVI T'X2 NI90IN "N 270 72T 'NNT XAIo

WTIOIRTIT 2" R"op "D TRPRRNG MIRY YATRR RUT IR T T 7''N2
NI WY ROW KON IITAT NPWR 270192 ™R OBKR "IN PO INM RO
977 29920 TN TV 27 M1 KDY 1D nIwa 2o 1nmY AN N2 2vYanNT
SURY "M NIRA T MMM 2IAZY T VWY PR 'Y T IRRIR
277 237210 1T A0 3T TR 1NN KDY MR ORMNA RITID DRNND IR
PROY NIAY 2R T 2MWY TPNAWNRD NN N29R IR TR 17O0DT WY

H'"'mY TRNWN N
1) mooin — another &wp to the nv>w of o"aw"

a) Why was the nnnwa 2277 717 when they realized in 2 maw that there would be no
more mn 7 in '

b) After all they must also have realized that the final 15,000 plus a fraction who
were to die in " mw were min% 1 before their time in 0" maw
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ANIN T NIAD TAMTRIAN AR D5 AN MWNRD 29N N7 'O 0 0oy
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1993 5oy "0 anva MIDadY 21BREA "D 12 DY Y9IDR 1A TN 1R 7N
RS 3977 579973 NYWa 'S 12 1T anIk By a1 aR "' R n''nb am 'oin
NRADa WA wNnY Doy axminn ' M R ' nva "o va v
"2 "D J2% DD 27 'R DR RS A IR 290ANR answ 77T awend T nhw
TNIN AN "R NS IDISIWDY 1D TAWRNAD 1T TN INDY DAY NN WYwRw

RTYITIR RR R I Ry R0y D ma hw
1) nvw of on 2 on the mand of 7ok waTn

a) The number of min>n per year varied but after the final mn»m in v"% mw there
survived 15,000 plus a fraction persons who were subject to the 791 but didn’t
die — there was no "mn? 1Mmn"

b) These persons survived either because

i) asexplained in 17mon X5w 7"%2 mooin — the 77°1 was w2 for them and the
reference to mn “wK> 771 refers to the annbna swik who died before the 791
was 5032

ii) oras explained in a 123 of m»pOIN by X"w1n in 1K 7"82 — the 79013 at first
included also persons who were precisely o> wy °12 at 77°137 nyw but in the
end only those died who were w7m o> wy *12 at 77510 nyw

c) the reason m2°77 N was delayed until 2 m1w was that they were paxy until "o
axa for those who they nmwwva thought were still nin% PxA

2) Twnn of mooin — xowp of °"1in 11993 to the nvw of on 11°27 as brought in X"wan at
M1°K 7R3

a) 931 771 wasn’t 771 until axa ' of 'a nw so it can’t be that those who were
only 7717 nywa 0wy °12 were included in the 77°1x because these persons (and
even persons who were w7m o> wy °13) wouldn’t reach age 60 before the end of
the 77°13 in ' 1w — and yet we’ve established from *n%w1° that persons didn’t die
until they were at least 60 years old

3) X"wnn
a) y1nto the xowp of >

i) "wnin'»% ' 92712 says that the 790m is considered to have begun in 'x 7w
when they made the 23y because 912723 then 11"api ny7a 75 to make the 7901 —
so that all those who were o>7w¥ °13 in '& 71w were also covered
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212 NN AN M2ADW YT T KD 27 R''OW N1 T TIRa Pany v
7''0% DR 'oInT W'D AN IR TV IR P20 1M v niwa
12 TR 'R 2T O KDY TRRWNRR 2912 INRY AN N20 nRNaw 190 ban
MDD 9T 1RDY NIAY RY RUTR AXYA YTV AR KD R 21NN IN 2w
IR 2N T OORTIT DT DY R NORWR KD 7MY MR TIwa tap
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1) nnipn

a) We established for o"awn that all those who would have been oww °12in '» mw
were mn? 1 in v"s maw — it follows that each person who survived in ' mw
wouldn’t reach age 60 in '» 73w and knew that he wouldn’t die in " 7w

2) nmooIn
a) Nwp to 0"awn
1) so why would any person alive in '» 73w be 997 @ 77917 Iin ' MW
3) X"wann
a) noRw
i) Isitalso axwp why there was a 1112 in '» mw that Paon 902 XY 537
b) nawn
i) No
i) A 11> was ¥ because 1271 17 at large were 73w in ' mw and didn’t

realize that all 77x 1""n had died by 2"v of v"% mw — proof is that they were
Trnwa in '» 7w when it turned out that there’d been no further mnon

iii) but each person knew for himself that he would not reach age 60 by axa 'v of
'n niw and would not die in the 1751 that year — and this explains the xwp of
why each individual needed to be 291 a 12p

NP7 7

2N nn a"T n"awn

7MY 2R NNRY QTR DR 2P "0 apaw v''n a7 o''awnna [2 Ty Rop 7]
B Boy "o T 7" PN
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B'"5Y 112 7YY 1R AR N0 nNema AR T2 2 awnna [N TRy Top 0T
RT NIWAWD MY RDIRT RLIP INR TN Doy "o ntomn 1
A'TST KD RPN KPP WITIT RNIWN2 IRDT DO AR PImaT K7 a0
"2 MO RN DY MRPT N7 2N 7772 WOAT BMWNIRY Db nRp
R 2"y Doy "2 P9 PR ORTI2 ROR Y3 KD 5D NOpan N2 a7y
RNIWN2 RDT KRR 9557 01 9pDT 2" 10 prawn R TInban PwLT Pt
WA R9IMNRT RITAW PITINAY BITOT NN N7 DR YN M0 "2 WY
QW 95 DV TIT RDT ORTY ITIT DII2 NI N NOSAAT RIAw NI DaAN
N7 23 DY R 7awn 1NN2 IRD NNSMIAT 2R RN 2%902 112 10 M7
Y1 2012 9D B 7'ENY 2" awNn0 27N 12 "'y PN wnn R9nR naw T
ST ROYaM NDOAR WRn 7T T5N2

1) xnp»n

a) A "2 takes 02w o in maw that’s SR Xp X1

b) It follows that

i) A2 takes 00w %o in "R 722 NAN0M 719" and "TPM oK v 70"
because the maw is *nX Xp X7

i) He doesn’t take o°1w *> where "o°na "»n° 12" because the maw isn’t Xp X2°nn
DR

2) XM
a) Nwp

i) Once the &n>>12 says that a 7122 takes o°aw o for nanowa 790 that’s not “mwn2
xn>°p ar7T why does the xn>12 also need to teach that a =152 takes ooaw °» for
79X Y17 1770 that’s X»p 28T "Nwn2

b) y1n

i) The xn>92 needs to mention 1982 73177 779 to teach that a M52 takes 021w *
for >R 7°2 N2 719 only where »1x 72 "on Xp X7 because the onk are
711 the 719 — the same as 19x2 73177 719 where the 77977 52 isn’t Pra the 799

¢) Note that

1) it’s ynwn from the xwp of the kn>92 that for oaw *» it’s a o that nanom 779
1sn’t X»»p 2Rk Mwn2

i) we’ll establish that ?"wann and &"w-nn disagree on this
3) ao"awn

12



4)

5)

a) Nwp

i) Then the xn>12 should have taught only that 7152 is 2°w 5 5011 in 9982 Y17
that’s not > 72 qon and we’d realize ourselves that 1152 is o°aw o Hv for
nanowa only if 1 72 »on KXY

kAl 7ahia)
a) xwp to the xowp of o"awn

1) If the Xxn>92 hadn’t mentioned 2°7R 7°2 N7 779 we’d have said that 7122
isn’t 22w °5 Y- even if *1311 70 kY — since 0 NXR 7°2 NN 799 has the
71om that it’s not 1P 2RT "Mwn2

b) vynof 5"wAin

1)  When the &3 asked that from nam>1 we ought to derive that there’s o°1w o
for 7582 v because nanan isn’t 2°%va nwn2 while 7582 717 is 2y MwNa

ii) the xmx didn’t mean that not to be o°%va mwn2a is a o — the X3 meant
only that it makes no difference for o°aw *» whether a 79 is 0>%va mwna

R"wAnn
a) The yyvn of 2"wAmn is pmiTa
b) nn7pnto the y1on of X"wonn to the xwp of 2"wmn

i) naw is wnn X2 if there’s no 07X *12 n7ay at all — an example is 73177 799
pbhel

c) yenof X"waan

i)  When the & n3x asked that from nar>1m we ought to derive that there’s 0°w
for 7ox2a ¥ because nnon isn’t 2>y Mwna while H98a ay17 s 2¥Hya mwna
the X913 meant that

(1) from nanom — where there’s a 1o of o7X 12 72 1721w and is similar in
part to 0°na 112 *nn° because the maw isn’t wnn &2°nn —and yet 1121 is Sv1
021w °5 only because x»»p 287 "mw12 XY in the sense that it’s the 1o
who’s 72 721 rather than on°

(2) we ought to derive that there’s 021w *» for 1982 7717 that’s win X2°»n since
there is no o7X *12 n7av at all

D'7X1 X757 T N2
FTRWNT T 3320 RAIRT 'R L0 BT a0 KD ' 10 2RI RUPIT "R

T9'"mY RAR RNADIA T2 11D 777102 PR RPN 2R BT

AN VY IV AT D" "awn

RIPOMY 21 90 DU IR J1277 K2R 3121 "0 AW e ' ra o awna
TY9R 1299 anR WHRWT ORRY DAk APD DRIART R2WONR 1O By "o
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1) XM
a) PRIMW MR 777 20
i) 702 doesn’t take "W * in & AR W
b) annnow
i) 7102 does take o°aw *9 in a nXIRI MWW

€) 720 says that a 02 takes ooaw »o if e are ypap 72w with the qow but not if
they’re myn 721

d) 7yam1 27 says the reverse — 17 1R ¥pp 12312 w° Myn 123
2) o"awn
a) Both 121 and yam1 a1 follow ann wbw that a M2 takes 021w * in a aRI?a oW

b) 127 explains that it’s where ¥ 12x that onn 77w say 7102 takes ooaw o ina ww
97

c) 121 explains that it’s where myn 123 that takes ooaw °o in a x93 oY
3) R"wann
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a) Nwp

i) Maybe 727 and yam1 27 both follow Sxvw nR 77370 21 that a 1102 doesn’t take
D°Iw °9 in a aRen Y

(1) m20 says that 2x1mw vk 7717° 27 deals with nyn 12a
(2) ymma 27 says that that Sxmw 2k 77170 21 deals with ypap 12x
b) v n
i) it’s ynwn from the P of HXmw anx 7770 21 that he says his &»noa 197
c) Nwp

i) From the nw® of ann oW it’s also ynawn that they say their xano2a 17
"7 Xjpoon n"TN 2 770 DI'Na DY '9T X1AIO

PODT 9" 5o NITIT2 72 PODW 1MARR KYY "0 0 Xpoon 171''72 'oin
192177 9272 579957 27 PR RDT IR 170aR 27 1A D KDY RITTR oM
272 19957 TITT AMWDR 1AM RNWTT 192N 9270 KDY RITI2 IP0D K
N1 RI7572 170D K97 NO20 72 5799 NOK 271 297 K701 RDWTT 1979202 IN
N1 R97:772 170D K97 9721 2KP X277 12 9270 MIRYS MR 1ann sans
SENTIT TINK 2TON2T RIDD RN 3D ANK 1AND PPWR IR 192N 200
2"y " anaT

1) mnTpa

a) 21 disagrees with o°nor in a case discussed in the &7
2) X

a) JMn1 27 says *27 127y Mwyh """ — he doesn’t say outright that >213 7397

b) a1 says "oom 7270 Pun" — meaning that ™27 °7272 Mwyh Mok FPnna%" but ox"
WY WY

3) mooin as explained by x"wann
a) There is a %2> is that 171°ann *270 71397

b) xR disagree on whether the %92 also includes "vaann X7 — or whether the
552 is silent on »°an so that in a npY%nn between >21 and 177217 the 7597 can
follow either >27 or 13127 depending on X120

C) now

i) 7am1 27 says the 995 doesn’t include 1°7°2nm Y9°0% and in the particular case
discussed in the & na the fv*w of 217 is more 7anon

il) X271 says the 92> includes »°ann &1 so that the 7057 is o°nomo but in the case
discussed in the X3 the 7597 is o°nond only in a "pun" sense meaning that it’s
only 7%°nn3% that the 17597 is o»am
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TARPT N7 9" Doy "0 WHR PR JINARTD D IRTT PR RDT RR
12321 2" aRWNER $720% 19 ORWDIT R120K IRY 99 17 PRIPaT Naayn N1ab
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RIINDY 329K 939D KD RANDAT 59 17 NIPR 12327 AKRP 'R 7an
ITOR 3PS ARTD 9 1T YRPOPAT 1A% 299 ORN 2''awn an> XnvnT
Y72 DY 12327 RIN FORN 212 R2O9T7 ORTY 7712997 "D 11 200 Nnov ann
SONTUTY AR 299 9m5 RDOR 157 3208 3O9DT MMD 10 D97 ROR OB
221979 77209 22w W'D NYNDR IR ORTY 1APD J1NRRTA

1) Xn»12 - 1327 say that "mona oow °5 S 71020 PR
2) XM

a) Ryw R 37 21 follows 3329 who say a 1102 isn’t M2 021w °5 Yo

b) (X27vn *12n) onn %W — a Mo does take mvna oW

C) 72712 PR MYN 123D WO ypIp 1A

d) 3mM327 -9 PR YPIP 12X WO My 123
3) Twnn of the X

a) xwp of »ax to 727 and an 29

i) There’s no 8120 for either 727 and yam1 27 to be ponn between ¥pap and mvn
b) Xipon of the & na as explained by o"awA

i) 727 and yam 27 both themselves in fact agree with SRvaw anx 77170 27 that 1102
doesn’t take m>n2 021w *5 whether yp7p 123 or myn 123

i) Both speak only for x27v» *12 — 1727 says &27v» °12 hold that there’s no 021w *
here myn 123 while 1111 27 says X27v» °12 hold that there’s no 2°1w ° where 123
ypIp

4) X"wan
a) Nwp
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i) The same as 1721 and jmm1 21 say there’s no X120 to be Porn between ypap 123
and myn 123 and that’s why they themselves agree that there’s no 71122 P91 in
either case

i) They should accept that X27vn *12 agree that there’s no 8720 to be ponn
between ypp 123 and nwn 123 and that’s why there’s a 722 P in both cases

b) v n
1) n27and jan1 27 say it’s not 1anon that X27vn °1a disagree with 1127
i) Asaresult

(1) n2n assumes that there must be a X720 why X27v» *12 understand 7121 to
say 702 711 1% PR only where myn 123 — 727 doesn’t know what the 8720
IS

(2) ymma 27 assumes that there must be a 120 why 82997 12 understand 7127 to
say 171102 por1 12 X only where vpap 123 — 1m3 21 doesn’t know what the
X720 is

5) Twnn of o"awn

a) 7am1 27 brings a X" that’s not relevant here from the case of Xnao that X2 "2
hold that there is a 71122 p%n where mvn 12x

b) 121 is 7>7on the &1 that 1mm3 21 brings from the case of xnao
6) Twnnof X"wann
a) Nwp

1) We’ve just explained why it must be that neither 7127 nor a1 27 know of any
X120 to be ponn between ypap 123 and myn 12x

b) v
i) M1 21 recognized that the &1 from the case of xnao is nonom
ii) o"awn brings the & from &nao only Xn?7 &AM

IN'yov7? 2" TN T 770 nI'na pY 19T X1AIO

727 9927 RPT7 IR TR R DY 7 Y N0 vnape® 772 'oin
MPITTY 9D ROTT DIVIPT NUWH 5oy 1299 IR "1 72 RITIT2 1A A
V9 ROT NI 1232 1921 YPOP 1232 P2 1AM 2097 Ro7 N NE 1R o
MIPAT 292 77''DW WD 0 NI 123 923 BOpR 729 9957 PINTY an INTI RY
PITTY 279 INTI KDY N7 12NDW ARV T RIRIP 1OR WD 1T "D 207
aYY N'' NUAwh HIpH 199317 oYY DUIIPT NS IND 'R RNy
I2'TY D ROT MIYR 120 IR
1) nn7pn — "PImInad MIR12 20w D HYI MDAT PR
2) Xn™M2 -0
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3)

4)

5)

6)

7)

8)

9)

a) "mbna ohaw oo v 027 PR" because M52 Ak doesn’t count as having been prmin
at \nn>n nyw in money owed under the 78175

Rapla)}
i) DRI WK AT 27 says Mna 2w D H1I M52 1R because he agrees with 1127

b) ann oW — mYna ohaw o Hui 02 because the mPn counts as prmn

C) M MR — MPn2 021w °5 YN 02

d) X127 —mnR who’s Xy777I7 agrees with 1am1 27 who’s also xy7amn

Twnn of the X3 in the X1nR 717

a) 7AM127 -7 PR YPIP 1230 w1 NIyn 123

b) 729 —12 PR Myn 12312 w1 YpIp 1ax

o"awn at 17 we myn a"y

a) 7am1 27 in the X1k 7 — before the x>wp of »»ax mentioned in the prior 112°7 — says
2 W nyn 123 because "pw My 2070 mva"

mooIn at myn 123 1"7

a) 7m1 27 in the xrnx M — before the xwp of »ax — says 12 w> myn 123 because
"M%y 270"

Xipon of the xna

a) 0"awn - 21 and yam 27 both hold for themselves that 1% 1x both for ypp 123 and
for mwn Y

b) onwran -
i) 7m0 for himself holds 17 w> myn 1ax ypap 12x
ii) 121 for himself holds 17 P& nyn 1231 ypap 12x
RYYY RYTITI A7 MooN

a) R spoke xnnon so he presumably said 12 w° for both nwn 1ax and vpap 1ax — for
mooin this fits well with the xipon for xy7777m 12m1 29

b) But for o"awn it’s a X*wp even for the Ripon why the Xan3 says ¥ nyw? &y7171 and
that "» K agrees with 1am1 29

XN»12 0N X»p X212 at :an a7
a) RPY ' —"INWK P v Hyan pR"

10) X mx in Xnp X232

a) 127 and yam1 27 say that "inwy opr1 way Svan PR applies only to qwina anwR
b) xwp

i) Why doesn’t am1 21 say the 17 of X2°py " also applies to 7w 1RY NwR
where ¥pap 123 that for 1mm1 27 counts as X7 in our x>0 for 7122 — and Hya
isn’t MR W

18



i) And why doesn’t 727 say the 17 of X2°py " applies to nw Rw INwR where
myn 123 that for 727 counts as &1 in our x°310 for 7102 — and y2 isn’t MR WP

11) myn 23 5"7 mMooIn
a) Nwp to 0"aw based on the X1k 7 of the & nax here

i) For prathere is no X120 of ">pw myn 270 mvn" so 1ama 27 would hold that for
P11 even myn 123 counts as XA

i) And the X nx ought to have asked its x*wp to yam1 27 this way:

(1) Why doesn’t 1nm3 21 say the 17 of &2°py ' also applies to mwx Rw WK
whether ¥p7p 123 or nwn 123 because both count as »x1 and %y2 isn’t WA
MR

b) Note that this isn’t a X°wp for m»oIn who says for yam1 21 that 1% w> mvn 123
because 17>°%y 20 — since the ayv of 1%y *>no applies also for pra

12) mooin at ¥onve? o'
a) We established for the xipon of the & na that

i) o"awn says that 727 and jmm1 21 both hold that 1% px both for ¥ypp 1ax and for
myn 12x

ii) while on a1 says that 1m3 21 holds 1% w° mwn 1231 ¥pap 123 and 721 holds 1ax
2 PR MY 123 vpp
b) xwptoa"awn

i) For the X1pon why doesn’t the X3 in ®»p X232 ask that both for 727 and a3 2
the 177 for pra should apply to fwaa nrRw nwk for both myn 123 and ypap 123
since both cases count as "1

i) Note that the x*wp doesn’t apply to an 11°27 because in the xipon there is no
X*wp to yam1 21 at all who holds 1% w» for both ¥ 123 and myn 123 so it’s only
for the &1»& M that the & mx in Xnp 822 can ask a X°wp that applies to both
727 and to jam1 2

C) yn

i) The x na there is 1xpn and bases its x°wp only on the m»n that 721 and 29
11 say wroa namely for 721 that 12 X nwn 123 1% w° ¥pap 123 and for yam: 2
that 12 7R Y2 12312 W myn 123

13) ®"wann
a) Xwp
i) Return to mson at myn 123 7"7

(1) where mooin asked this ®wp to o"aw" — the X3 should have asked that
for yam1 27 in the X1k M7 the 197 of X2°py " ought to apply also for 12x
myn because the X120 of 2pw myn 227 myn doesn’t apply to pn

(2) and this x*wp forced nvon to say that the avw of am1 27 in the XKk M
that 12 w> mwn isn’t based on 2°pw mvn 2070 Mvn
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i) Why didn’t m»on answer for o"awn that the x7n3 was “xpn and asked its xwp
only from what yam1 27 said w92 for 1102 namely that 12 PR vpp 123

b) v
i) The yyn that the X3 is 9%pn is a pm7 and that’s why

(1) an 127 in the R M prefers instead to be 7297 the avw of 27 myn 2
palrl

(2) onran in the x1pon prefers to say that yama 27 says 12 v both for ypap 123
and for myn 12

DN N2 TN NIvOoIN ‘0 770 N1na DY 19T XfAIo

R® Dyamw 2mrn 12 RNav 23 X297 912 KT X7 10 wapn 0 7''Na
127 RNAYYT WIS 179% RO RDT 12 2R wnonw M1 H'oy "o prmn
NYWR 9127 12 79T 9001 DaN 15 K191 RN2D 2ITR ORT 21N A1 RaYn
SONYTR POOR KDY RN2ADT IR TIIDT MaART 07 2" awnd "D mmpha In
“79% {7129} K27 7799 Pann KD 2K 79T 9023 1921 RN2ST RIIT 2 A0sb
TART 7720 RDR 77O ROWP KD aART X021 009 AR N2tpn 9127 R2WN
"9 RI927Y RN2D QTP ORT 2R RPN 127 RAPY NaNDAT ORWDIT RNAYY
DI 7137 NOR RNADT T2 IR NN RN RAYY DN R2WR 012 Dan
127 RAYY FONAPTR POOR A1 MARY 1D PIMIR N7 Mbna 2''RWH avwa

TP 57200 ROR D RWP KDY 7D R2YN
1) RXN207 X210

772 R2POW X201 71777 RNI2 77 8217 9RNT°2 77021 RN207 20201 3772 INRT R
N7 K97 POD 71V 27 — ¥an XY 9¥2 RDX XN20 X2°OWT 702 XN2D 121 79va
SY27 7R IR D M7 2w ROR PRYun KDY 11V 270 XNO9AT ann oW va
DOW 1170 IR M7 X2WA °127 RAVY 720072 1727 AR — PIMIR2D IRN2 Y0

1927 772°27 R1AN RN20 XATP ORT 21720 N2Y PR 12 XN20W 17

2) Twnn of the & ma

a) xwp of »ax to the X1k M of 727 that a 7102 has M2 ooaw °5 where ypap 123
because then the m>» counts as pmmn but not where mvna 123 because then the m1%n
counts as "X3

i) Since 121 says that for 1nwxn Hya7 nwyy the o°021 of n9a counted as w1 while
Xn20 was alive because "1°21 71°27 X127 XN2D KATP K"

ii) anvwa mbon should also count as »x1 for 77122 p%n even for ypap 123 because
w1021 of the 1% would be x1°21r — and since the m» can be phon the mbn with
1 or other vpap it doesn’t matter that mypap of the 717 are 7avwn to the 71vn

b) 10 of 7127 as explained by a"awA
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i) X27wn °12 —who are the same as ann 1w — say the case of xnao is different
from qvwa 7Y9n for 122 because for xnao there is no 2y w while for mo»
Tuwa the mypap of 1% are 7avwn to the mvn

3) mooin as explained by x"wann
a) xwp of an a0 to the v w of o"awn

i) 127 doesn’t answer the X°wp of »ax that 729 had explained the v w of "2
X271 on &nao based on °°21 71°ar and not based on there not being a Mayw

b) yyvnof oniran

1) »ax understood all along that the ayv of X27v» *12 is based on there never
having been a may>w at all for xnao while for m7 there is at least a Tavw so
»ar for X27wn» °12 could accept that x27v» *1a could hold for 1152 that ¥pap 123
ww

i) The x>wp of »ax to 7127 was to w17 Xnyv of 721 that the 7 of xn2o is based
on &1°21 1221 and his assumption that m> also counts as X1°ar 121 S0 1727 can’t
hold that 2 w> ypap 123

iii) 721 answers that he in fact holds 1% 1% vp1p 123 because in fact the case of m>
also counts as 13°27 1027
Ini7 w1 TN NIDoIN ' 770 DI'tTna DY 19T X*AIO

QIR 9D DV 2277 ARP RDTR 10 wbDnT Jan1 290 BT 'Y 7''Na
71772 77 79077 DIYR wND 19D N 1MINDY oy "D PPap 1A 12 mvna
T2 YRR 123 792 DR 2 9D DUIT TARP RAND M1 AMART 1D RYTIIM
TARI AR ANR WP IM2T A7 2NEYR MWK AT WY "D MR 1aa
1T DT VAR AMAR M2TDY 1TINDR J19305% RMANDAT ann PR 1aTe
29N 7O RIT RYTITIT 1190 MAMART 225 W 171050 J059D% KD RAnNDT

221973 0D W% WY RINA D02 200D KDY RIT ORI RYTITIT M
1) Twnn of mooin at mnvw? o7

a) mn1 27 says that 27w °12 mean to be ponn between myn 1231 ¥pp 123 because
they say ano that m%n2 ooaw > 12 w° 7102 without saying directly that 17 w» for both
YPIP 123 and myn 12

2) X"wann
a) Nwp

i) We established the reverse earlier in "nyv% xy7771 7"7 Mmoon — namely that
because Kk says 12 w° ono it’s ynwn that he’s not p7nn and instead holds w»
17 both for ypap 123 and for myn 123

b) y»n

i) ok relied on ano wording to teach 12 w» both for ¥pap 1ax and for nmvn 123
because he assumed people would realize that he agrees with jam1 27 who’s
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also from xv77771 and who in the x1pon for noon holds that 17 w> both for 12x
ypap and for mwn Y23

A2 Q7

1020 'N1A"T nivoini n"awn 't 770 DY 19T X110

T A2 12 IRN2 BV M0an PRI T2 a'awnea [2 Ty aop 07
DU DT PRI WD ROZITD WA N WP INNSD By "> monw
RO2I7 FOVRED WIDY RDINT 1337 maw Pav{a 79 9PINID ouwsn 10 MINRN2
192N NAWD MNRT2 DV 10257 TR ORI KRR 11D IR DY BYAT IR MRPT
"DIN 119277 39 MIRT2 BWI 227 PRT PT DA T2 MR PT NA 0a b
19 RN 297272 P17 maR IV KDY OURDD YINT2 DU M027 IRT N7
RANDY 7AW TIWN WARNAD NN DV IIRT RN TIT 2T 2wh wN
23 DY ORY 57 XNSDT poDKRY XD 279 5199 TUUIOR KD 7102 w0 paa RO
AW QWY AW 7AW 2ND WNSD MWDK Mawa KDY anT Mnl AnpT
PODMD 9% TMUROR "D NINT2 BU M2 PRT WHDD T A 2%n2

1H'"mY 321272 1Y YRR IS mAwa NS4

"SERT 7''1% R2OR R777 12 mawa w''oY mivna "o M2 1RY A 'on
WD DAWR MR DV D27 PRT RITT 701 ORI INDR DOy "D 7 J12ab
17O MIPRT R''o% RYNR maR JOUMRR KDY 2''awnD maw I R uwss
Y9I RNIN2 FONINT AR NOTYT IDNTR Al Tmonh N2INT 23 BV ON
N7 32205 7'"2% RDWT NART DD RAMP KD KN20 7 2" Db AT
1771 27 YD PI0DT N7 9 NIBDINT 120w AR Fawa apwn mibna Yipw
™ w7 PR N T 200 'R T DA KDY mawa XPIT N
AR TY9R MOTYT RU20 T DaAR NIYK 1232 192 YROP 12s2 12 Jame anb
aNR IMPWT R2WONR 11209 RIPOAT DD M1 RNIN AT NO2AAT INMDT 2WN
2T
1) First nnpn
a) Xnp»32at.7op A7
i) 72
(1) y7°2X Nn°1 MR 0°021 NAWW NMAWA DI D KU 7102 PR
i) *2m
(1) 2o *5 5011 MDA VW W — N2AW1A 221w °D K1 D2
2) Second anTpi
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3)

4)

5)

6)

7)

a) PRMAW MR TN 27 — M9 20w 0D VI 702 PR
b) xwp of "xn>" to HRIAW MR 77 2
1) XOW2om Mm% PWw RPT 1327 K PNIwN2 PRORT RTAW RDWT 13277 RDOOR IRD?

i) Meaning that Pxmw 8 777> 21 shouldn’t need to teach his 7 if he agrees
with 71127 — because once 1127 say that 7152 doesn’t take °nRT Xn2aw2 0°w D
X7 it’s a muws that they hold that a 1122 doesn’t take 021w > in a M9

C) y™n

1) RP X7 RO2XT INDI RIVW WPIT I M9 RIAK TOYT KPP0 TI0ERY 13277 29w
P12 oW 9D Y01 RY DR 2T 2 yawn

Third 77 — qwnn of the X723
a) annnow say that a M0a takes mvna 0w
b) xwp

i) 9] XV MR P RDT 1327 MR MWD PRORT RN2W RNWT 13277 ROOR X7
[2ow %D

C) y™n

i) onnnbw agree with 1327 — they rely on the X120 of »7 82237 1812 MY to say
that 1327 hold a 7122 takes mb»a 0w *» even though 1327 say that a 1122 doesn’t
take o°1w *5 in maw

Fourth nn7pn — Ripon of the Xana at .79p 77 on the nww of yami 29

a) 0"awn —yam 27 holds that 1102 doesn’t take mo»a oaw °5 whether ypap 123 or 123
myn

b) on1°27 —7am1 27 holds that 1102 takes m%n2 ooaw *» whether ¥pap 123 or Myn 123
Fifth nn7pn

a) 7M1 27 —°270 17970

b) We established earlier that 21 says 7152 has 2w 5 both in naw and in m°»n v
Sixth anpn — nvon at ynveh a7 at .iop a7

a) X°wp to 0"awn who says 1am1 27 holds that 71152 never takes mona oow

i) ymm1 21 obviously holds that 7152 does take mvna oo1w °o since ama 27 says that
°275 17091

b) yyn for o"awn
i) 721127 means the 713%7 is *213 only for maw
Seventh fn7pn

a) "wnn MR1" refers to 2°021 that 1527 2R 2% IS 132 WY from 12187 *ax 2py° who
died after 2181 died

b) "ono »X2" in this X*20 means "T132:7 2K NN°H INR? 0’001 MAWY naw"
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8) X mxat :op a7
a) X992
i) %12 0oaw D DU 027 PRI PIMIKND IRN2 P01 1027 1R XRNDYT
9) a"awn
a) x99 27 by "X7" means ano X"
10) X"wann at 027 PRy "7 0"awn
a) Nwp

i) Why doesn’t 2"awn explain for 722 that »1x1 in the X7°n of X995 21 means
"wan MR

b) v n
i) There already is a mn°5w mawn that a 132 doesn’t take 2°3w *2 in wnn "X so it’s
q2non that the wi7n of &95 27 is that a M52 also doesn’t take 0°1w *5 in N XA
c) wwp
i) But the ma hw mawn also already say that a 1122 takes no 021w °d in ono "R
d) y»n
i) X995 27 needs to explain for maw that’s ano "1 that the mawn disagrees with a1
not only where holds that a 7132 doesn’t take o°1w ° in maw that came about by

o'mn> for example where o°na »»n° 132 — but also for naw such as *m 5w which
didn’t come about by the efforts of a'mn»

11) mooin at X9 21 MR "7
a) mnTpn as explained by X"wAnn — moon holds that x99 27 in fact refers to wnn "X
b) xwp
i) why doesn’t x99 27 also teach that 7152 doesn’t take o°1w * in maw
c) mawn

i) Once x99 21 in the second part of his Xm°» says that there’s no M2 02w °»
it’s a 1ow > that there’s no nawa o°w °o because it’s more 12anon that maw
counts as *x1 than that m%n» counts as "X

12) x"w1n at 71927 1R 3"7 MoIN
a) Nwp

i) We established the opposite X120 earlier when the &7 for Sxmw K 7717° 29
asked Xy 91 DPw RHT 1327 AR PMwN2 PRIRT XTAW RDWS 13272 ROOR XD
b) y»n
i) We also established that the xanx answered its &°wp by saying that vxx

X7 K227 1R RIVW VIPIT 10D M7 RIAR YT RPLO — meaning that mY» counts
as more prmn than maw
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i) And besides we also established that an» 15w actually rely on the X120 of
17 X237 182" to be pon that 13127 hold that a 7152 takes m17m»2a o%w o because
a mn counts as prmn while maw counts as »XA

iii) Note that there is no amx7 187 in the X3 who takes the opposite 7277 for 1121
— namely to hold for 1127 that naw counts as prmin while mn counts as X1

c) Nwp

1) But for o"awn there is such a &7 18 — we’ve established that mooin at 1"7
"nyu? says for o"awA that for yam1 27 although 102 doesn’t take mona 02w *
(both where ypap 123 and myn 123) a 722 does take mawa 00w o

d) yrn

1) That’s correct for 2"aw" but not for an 1127 who holds for 1am1 27 that 7132
takes 021w °» for m» (both where 1 1ax and nyn 123) as well as for maw

107 7

AWY X7 2T nioomni viveT "TT'0d12 n'TNn"awN

N2 Pha A WIWDTY 19707 Y0012 17''72 aawnna [R Ty 1R 7]
512 97N DITR MRPT N7 9AR DY 1D RUANT PV 7T IR MWD PR
ROR 1°P977 '2 27 DIIRDR 210257 10R KPR 7D 2K "D Yovwb v
B29m% VIWD 212 AN DR TV PRI "2 1297 KDY 1TV PR KRR 100

T '"'mY 2P Bon

DR 7T

21 27 9" R "D 70N IR "D TR X 7''72 n1oIn [2 TRy 1P 07
AN RATT OAPD INRT ORR AR B''Op URWOD 199%7 IR pRn by
R ORTIT AR PO OY IR RDT DY WDHRT TP RWP KD NP
PRSI TN21 RDT 3199 79192 B291% 9IRT RPN 197197 IRTY 110257 PR 0n
K27 JIPIARRT PRAWH 2195 KDY TP KDT N29 2007w 17 Dan b w''as

ST ORR KD ONTY RIIRY RADD2 7R AN P9 1T 2990 0%
1) xm

a) The case
i) A "2 purported to sell "vywsT 707 2031"

i) o'mn> who were vws 12 complained and ate *7»n from the o°021 that 7122 had
“sold”

2) o"awn
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a) the word vw»o7 proves that the 1102 sold the p%r of the vws °1a as well as his own
7702 VWD PO

3) R"wann
a) Nwp

i) Why doesn’t 2"aw prove that the 7132 also sold the p%n of the vyws °12
because if the "2 sold only his two o°p%1 why were the 1m0 eating *2mn
from the o°pon of the 702

b) yn

1) This is no proof because the m1wn can be understood as dealing with a case
where there had yet been no np¥on

4) Tqwnn of the X as explained by msoin
a) pod by X271 as understood by nmooIn for one v W in the X3

i) RaH92 019wy Ro— the 702 validly sold his 77132 P and his mwvws pon but he
didn’t validly sell the o°nxT mwws Pon

5) mooin
a) Nwp

i) What is the vr7°n of 821 — it’s @ mw w»s that a 22 can’t sell mwws pon of his
apIh

6) X"wann
a) Nwp

i) Why didn’t m»oin ask why there was a n>xw at all that 1> and mmp»
needed to be bring the case to X2 for his pos

b) v

i) the n%xw came about because the vw» 12 argued that they could eat *n»n from
all of the o°0o1 because there hadn’t yet been a 11911 to decide what belonged
to the =102

ii) %27 was pow not only that until 7»1%m the 1min could eat »nan of all of the
0°021 but also that the sale by the =52 of the p%r of the vws *12 was 0190 &Y

iii) mooin asks that the second part of the pos of 827 was a muws
Xnd7a1 n"n

279927 DY 1P 2oy 10 J10urnan 9 nnbn XDT "1 M10ah w Rnom 7''7a
IINY° IRI2N AW 9D w'RN2

7011 "'~ X OXNI1 TN2 NIDOIN

129 9o "2 2T 1P WOT 2R RAYY M RY 10 DUl 1R MR AR 7''Na
P90 RONRT YRARWRT 12 DU MPKRT 7 PR 2T W PRT 7''Rb awh
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2205 PRI 2TIP W PRT TR 2w wn XD Pan 2''awnss a0 eN
R 77909 RDD 29 RITT 0D maAwa) MDR2 2N 9D DV TMD2 INRBN
19''mY 92m0 K97 RNODIT POD PR 2T W0 PR 190 NIRRT TONYRRT

TP 71

DN 'X 2T 0"awn 'N 270 YYj7Iw DIvnIvT N1AIO

STIT 5T R1ADT RPDOR "1 777191 12 9057 OR 1172 2" awnna [R TRy 1P 7]
77577 DTN NP KD KDY XPOD ORI 9O "D 157 RIOW 7Y wTRb 19 NOR)
POR 1Y 11D 0T RITOW TR RTIRD 19 NIRK ORP RADTY RPDOT NON ;7ap1a
TN 77ONDR 2 AW ¥R KDY PIYRT 2" a0 "D ARl RANW TV WATRD 10
RYTY 77577 Y ALY TONPR2 DT PO VP KD ORI R 277 W KON

Y TMINAY PRI 2IPINTT 2927 7112 2nD BNy Tapia ayun
1) First nnipn

a) 12 is naw amT because "7’ 1nWw 01°21 131 7797 YN 02 nwR" teaches 011"
"Nawa 12°oK

2) Second 7P — 2w 20

@) 707 XY YIPIW Dwmb isn’t 2171 on naw because 7% nywa it’s not known that the
721isaar

3) Third fn7pi

a) " Rk o7 77" teaches that an qwx who is "o1 770" is 77 nRnw for seven
days even if she sees no a7 and she is then 77w for 33 days even if she sees o7

b) " axnwY 70 72°p1 oXY" teaches that an awx who is "72n n20p1" is 77°h axnw for 14
days even if she sees no a7 and she is then 77w for 66 days even if she sees o7

4) Fourth n7pn — 802w 20

a) Annwx isn’t 772 axnw for a "o1 R¥H yIpaw o because 7709 nvwa it’s not
known that the 751 is a 707

5) Fifth mnpn —o"awn

a) For x°27w 21 the same o°17 would apply for 72°p1 nR¥nN Ny pIw o — the nTH
isn’t 77°% nRnY because it’s not known 137°% nywa that the 791 is a 7273

6) mwninnmat.noAT
a) An wk who is 291 a ¥yp1 Row D1mv IS 7127217 IRMIY 17 1077 ML 1 awn
7) xmx here
a) noxw for arw 29
i)  Why does the 7awn say 1517 2mw »»° awn —it’s not known that the 791 is a 121
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b) nawn

i) arw a1 for 771 was only poon whether we’re w17 from 251 779> that a 1
has a 101 17 only if it’s known 77°% nyw2 to be a 7151 and that’s why he says
XmIn? that the 797 isn’t naw amT

ii) the mawn in 771 N20M Says N212 MY »° 2N in case we’re not w7 that mw o
1017 applies only if it’s known that the 771 is a 11

8) Twnn of the xanx — xowp of "o K"
a) ™Yy 77171 72°PI91 7519 2wn o R
9) a"awn — K2 of the X°wp that ?"wann and X"wann will explain further below

a) For »arw 217 why does the mawn imply that it’s a °x71 that the 7wx has 2217 2m 2
— the mwn ought to be wwin that we’re "1 779" w7 to teach that the 791 doesn’t
have a 121 777

10) 5"wn — xowp to o"awn
a) 0"awn said earlier that &>27w 21

i) who holds that it’s a *)71 that for 231 &xn11 vypaw owm there is no 775 nrMw
because 11 7°% nyw2 it’s not known that that the 751 is a 757

i) would also hold that it’s a >x71 that for 7721 NRXP NYIPN DAY 7TW TR
there is no 77°% kML because 772 NYwa it’s not known that that the 791 is a
72°p1

b) It follows that o"2w~ ought to have explained that the x>wp of 277 °X to *arw 21
asks also for n2on7 why is it a *&7 that 72°p17 I8 *»° 2wn — we ought to be wwn
that for "7%n 72°p1 oXY" we’re w17 that the 71971 doesn’t have a 72°p1 17

11) ®"wonn

a) o"awnin fact intends explain the x*wp of the &3 applies to 72°p1 1°7 as well as to
n57 T

b) Here’s the reason that 2"2w" doesn’t need to directly refer to n2°p:

i) Since x"27w 21 also refers only to 231 7777 for 1517 AxAw *»° and 0"awn already
explained that x°27w 27 would apply his same X1 to 720 72°p1 oxy for »
T2PIT ARAY

i) o"aw" here refers only to 257 77971 and relies on us to understand that here too
the x>wp applies also to 770 12°p1 oX)

pawni T'Na 0"awn "2 270 YIj7aw DIVNIOT XAIO

IN 1D PDINT 2% A SINRTN ARY "2 7Y 2 SINTN ANw B emny 7''Na
NUTm 290% 2'"wan ano1 9oy Yo 2P 2t 'Y awnw Y 10 (07 KR
" R'RY TN 2P 5O 10 0pa 2MP1 1Y RER RPT KD DA 977 Rp
N9729772 21 9R% PNR K2 X7 R 2''awnpa pY KD 0TI 2180 29
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R 2197 DI 2% '3 IRTINWDY TT AW %02 7D 2» nPRA PINT
72T RAWT BT 71 0PN 7D 21 NYRN PRI DY RN RN TR
ROWD ROR WY 902 7D NBRT PO R MIDRWRD R 9ITA
'T 2N 7771 NPRN 0 RO RNWAT R Q™A MR 21 P70 MR RN
QY NNRW RAWST 2 71 BN 7D 21 NPRT PYIN 1K a8 YaR avp!
527 9" RNDT 7' AT AP WA NPDAT 2D RITIA AN M 2 T
DY NI RN AT 1D DIDIXN 232° "X RN AR WIDNR 9957 R 2'awn
T97 TR RBW IR N7 72T RAWS 2T 771 nhana 7Y nMRN PRINRa
7'"H DR PRINWD DV MM RN KRR 2P TAR 2P IR ROWTT "N
20 NI T 930N RYY 29 T wany 171 nonn RNW BT v

119aRY 27192 22T TR KD M

1) First nnTpn

a) An wx who is o7 X1 (except in her 72°1 °»°) is a i171 for seven days — the 11 days
afterwards are 2’1 °n°

b) An wx who sees o7 on one day or on two consecutive days in her 72°1 " is a
"2 pamw" and is 7nYa O TA0 Y N

c) An awx who sees o7 on three consecutive days in her 712°1 °»° is a 773 121 and
requires o>>p1 7vaw and a 127p

d) The first o7 that an 7wx sees after n2°1 °»° is 771 07
2) Second nnTpi
a) the first day on which o7 nrx1 makes an 7wx a n73 k7 is a "i71 nno"

b) An 1wk who is o7 %17 for only one day and doesn’t know if she’s in her 72°7 "
or her 771 °n arrives at ;771 no after o»p1 1™

c) An wr who is o7 &1 for 191%97 0°»° '3 and doesn’t know if she’s in her 172°1 °n° or
her 1371 > arrives at 7171 nno after o>»p11"v

3) Third mn7pa — mawn in 773 N20M — 72°P1 212 2WN DIATIRI QWAL N9PONT
4) xna here
a) Nwp

i) The mawn should have said 577291 72°2171 7212 2wn in case the 919°1 counts for
TIT0Y RAI O as neither a 121 nor a n2%p)

5) R in 771 noon brought by a"awA
a) Nwp

i) If the mawn were to mention 77171 72°23% why would the 7awn also need to say
7519 — ONce an awR is 72°p1% AR 0 nawy for 14 days it’s not relevant that
she’s 121% R > nawy for the first seven of these 14 days and while an nwx
is 7732 naw there are no "M
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6) 7110 of the xaa that 2"awn will be axan below

a) If an mwx sees o7 on the 34" day after 775 and then again on the 41% day it’s
relevant to say that she’s also 1512 nawr because

i) the o7 she saw on the 34" day is

(1) ~mw o7 if the 719°1 counts as a 121 or a 123

(2) but is 771 07 if the 719°1 doesn’t count as a 721 at all
ii) And the o7 she saw on the 41% day is

(1) ~mw o7 if the 1971 counts as a 72°p1

(2) n2°1 07 —on a ar 710 oY A basis — if the 219°1 doesn’t count as a 79 at
all because the 1771 *»> that began with the a7 n»x~ on the 34" day ended on
the 40" day

(3) m71 a7 if the 1971 counts as a 751 because the a7 she saw on the 34" day
was 1M a7

b) wY of the mx°a by o"awn of the y1°n of the X na

nHPYPA I R O RN MM 0797 7" 1 ARIN ORW 7377 RpDI 101w
X" N™RI21 7" 0 AN°ORI2 371 NOAN AN M0 00 117 10 KD Rpw 737100
77797 797 RAW IR 12791 2R3 T 799X POIXT SWOW RN ORY 72°T NOAN RO
771 POO2 KT 977 7173 1PN RO R NPORD2 A0 0 o0 7" 0 nOR)

[773 N9 ¥oam] opa 1" 2wnw 7Y 17an

7) H"wann and X"wonn are P2 on the 7amo of o"awA
8) H"wann

a) 0"awn means that it’s relevant that we’re w1 that the 519°1 might be a 251 —
because the a7 that the nwx sees on &"» o1 is 771 27 if the 7971 isa1orand is a7
721 if the 71901 is neither a 157 nor a 72°p1 — and because of this pee the mws
needs a»pa 1" for 73 mne

b) xwp of 2"wann to o"awn
i) The y1°n of the k73 applies both

(1) If the 7w sees a7 only on &"» o1 — in which case if the o7 is 72°1 o7 the
TR IS a0 7A10 0 Nw

(2) And also if the nwx sees o7 for 1o1%7 o0 '3 starting on X" 01 — in which
case if the o7 is 12’1 o7 the nwX is a 717 737

i) Yet we’ve established that if an 7wx is p210» whether she sees 1171 27 or 727 07
79172 then 0>p1 1" are enough for 771 nd — S0 0"aw" shouldn’t have said onoa
that o>>pa 1" are needed for 1771 nno

9) X"wann
a) TP
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b)

d)

i) 77107 for which an wx is o°»° 't nawy is nn relative to the 72°1 of o nw
oY 7A10

il) 19172 7207 07 that requires a%pa 't and a 1297 is °nn relative to 771 07
The n7p1 of the y17°n of the X3 as understood by o"aw is that

i) ifan nwxis o7 a8 on 7"% o1 and then again only on x"» a1 — and not for '
1910 o1 that begin on &"» 01° — we’ve established that the o7 she sees on ar
X"n is 771 07 if the 219°1 counts as a 1o1 and is 1712°1 a7 of oy nw if the o7
counts as neither a 751 nor a 72°p1

i) so it’s because of the possible 737 17 that there is the 87 that the 7wk must
be o°»> 't 2wn because of the 1771 P50 and it’s not enough for her to be 21 awn
0 7312

note that

i) the y1°n of the X doesn’t apply to where the 7wk saw o7 for P91 27 '
beginning with X"» o1 because then the greater 2 of 737173 721 17 would
make irrelevant the possible 771 1>7 that would come about if the %19°1 counts
as a"or

note also that

i) where the 7wx sees o7 on X"»n 01 and it’s a °X71 that the 721 is a o1 it’s a 10w 95
that o> 't awn — so it’s clear that the &7 of 2 't awn is due solely to the
possibility that the 19°1 counts as a 121

ii) contrast the nu>w of 5"wn where the possibility of the 919°1 counting as a o7
would result in no xmn were it not for the existence at the same time of poo
n27

2"aw" adds on an Xn7IXR 2R basis that because of the oo the nwx needs o>>p1 1" to
achieve 1771 nno — and since the X3 doesn’t deal with a 79173 721 P90 it follows
that 2»p11"v will not suffice — this answers the x>wp of "wann

N2 WATTN 0T NIDOIN
'D2 J3pORT B By MW MW RNDDITT "D R2Y wTTR T2 'O

1911 mY B TaRaD KDY I YRR 10aN NN TRWNR2 RNOBIT 2R

7O 7

XTI A" T D" awn

RNWT AKRPTS X7 17207 12 AR 1M 7772 2" awnna [2 Ty op 7|
TITO2 1120 WRWRT 2MWNAT B'OY "D 1120 1MIRY DY "D W T RM
NI 195 TODPR AR TTOBY A 112D 12TINT IRD OR 112 77199 9P 3977 RDT ORTY
12 AR WM TV 923 191 "D TIT7 PR 7'RT MRP 1YY TAYD W wRwn

31



MWAWR 27 TR 5977 BIIRD FTAN QMY TARD 17IVD WRWRT 7193 JOARYT
“"1N7Y RT3 N

n'od1a n"1n

NRT 27027 BP7 N1YDaT 9oy 19 SNRT M7Uay K97 12 2%o01a 11''7a "o
792 77N ONRT TU2Y K97 072 AR R''abwT mapn aTNT 20 v mON
W'Y "0 waDRa RYNR "D IR 2TR AR R T v 2 awnn pt n''

19"y RAND RT R MUY B

NP 7T

NAXT NANa n"Tn"awvwn

T2IRT® PR A 1199777 12 RANT NAN2 17''72 2" awn0a [N Ty nop 07
M1 3257 32 957 2'RY PN PR R 120 2R NN21T 92 Boy PR
2o XY IRTI7 30 9D RART RaAN2 WOMT MWK 27 72 DT RUR PWRD2

Y M2 77 '22 11N anD 397 IRRN2 NI KDY WA PIRWNRD2 KON

yawial |2'017a D " Tn

Do 15 90 PPT M3 2vWR "D MR KXY a8 "o yawn "7 a''72 'own
T 3D 2T 91 T WNDD 12 MR 9129 1INY 7O ININ PAVIDT N1 RITN
19 ''mY T 9DD AIPRR I DR W "o TR IR an

1) First anTpn — &n™M2

a) 1272 9157 1R 22NN Q7N 12 NID 210 IR RN RN OHY JAK]
2) Second 7nTpPi - XA iN P70 NoON

a) N RNPHY 107 17 A3 2197 DAR N RN M NN K 132797 107 WAl RD npYonn
3) x) here

a) RIR ' =12 77 2127 1R Yaw M yaws X

b) The xipon of the & na is that Xax ' agrees with the 1127 of the &n»12
4) mooin part 1 — 7x0a of the kv

a) The X3 assumes that a ny12w counts as 17 =) — it follows that the case of xax ™
counts as 1°7 73 IR and it must be that xax "y agrees with 1121

5) mooin part 2
a) First xwp
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1) The X nx in myaw noon says that if @ yani says vawi *°k the 17 1S MK P00
7 and >"w is waon that this means that the ¥ani can’t be 21 even though
there is no nyaw

b) Second xvwp ("mwp nxp")

1)  Why does the & nx here assume that Xax "y who says 2 10k agrees with the
X713 in 177710 noon and this forces the X7 to say that &ax ' agrees with
ajfally

i) Maybe Xax "7 holds that it’s 7 w3 *19% that o°nan are P2 with 9°8n ' but
"7 13 IR even PR» " agrees that anm wox and because of yaw: the case here
counts as P7 773 MK

6) Twnn of mooin

a) °"wA is oMa that our X210 reads: yawa 7w yaws %0 meaning that the vani can’t
be nm and yain can insist on making the anaw

b) And this answers the y1°n of 7wp nxp because then the case of xax " counts as
77 713 2197 S0 it must be that xax ' follows 2om because it’s a mu ws that °8n '
says 1n at least 17 3 *19°

7) Further qwni of mooin

a) Based on a xwp to >"wA that’s not relevant here o010 in a y17°n of "R 85 ox"
says for >"wn that the case of Xax " counts as 7 2n3 x> even before the yan is
yaw1 — similarly >"wn says in nwhaw noon that the vani can’t be 7nn if he says 1
yawi because "yaw1 *1R" counts as 7 i the same as ?m) yawsn nxn

8) X"wann

a) The yrn of "mariw 8% or" makes the xwp of "nwp nxp" apply also to >"wA
namely

1)  Why does the xnx here assume that Xax '3 who says 1m 1k agrees with the
X773 in 177730 Noon and this forces the X7 to say that &ax ' agrees with
apamly

i) Maybe xar "7 holds that it’s 7 23 *19% that o°nam are P2 with 9°)n ' but
7 T3 KD even vxkn ' agrees that anm 1R and beeause-of 2w the case here
counts as 7 x InRY

007 7

NN U7 v A"t n"awn

17927 21990 AR AR PaR "D MR ' 7''72 2" awana [R TRy vop n7]
B"op "D R MW WD 210D TR AR ININY 1I9DY M0D TR W
PWHT 9297 901 A9 NN MINWR 2D JNINY IR YN b7 YR
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23 2" AW A0 2TIIWY AR YRARIR STINRT 23 27w AR TR

2T PRI wERY anh avnmw

"7I9X7 ' 2N

29 92 9% 7997 PRT RO7I2 DI9OD AR 2w "2 3PIBRD 0K 7' 'oIn
RDT W''9% 791 A1 1T R399 K97 PIODT K73 ORTIT A"'URT H"'op 19 WK
SPIDRD SDY RO772 937 RN "5 PO0DT K72 1'% SWKR 29 93 94D RN 917

1)

2)

3)

4)

19!y WR 29 72 Y N2

Xn3
a) NaX " says that w2 >w>Hw is N17Y? Ww>
b) X237 is 7pom that Pwra2 wow is also MTyL w>
C) w2772 7% holds that even 3277 12 is MTy% Ww>
d) XI0Iw M — KA D 7097
Twnn of the X
a) K1 PIRY RNIYT
b) It can’t be that X717 7% means to say that X272 X5w Xnovi

i) Because since X217 is 7°01 0N XX "

il) If X0 2 disagrees with &2 he should have said directly that 8295 X5w &na%n
to avoid a myv that xav1r 91 means that the 175717 is Xax "3 together with the
79017 of X2n

mooIn
a) Nwp
i) Maybe &1 2 means to teach also that 8273 &>w xna%7 and k1w 2 prefers
to say Xax "> xnobn instead of X210 XYW kN2 because he wants at the same
time to teach that *w& 27 92 93 X>w ’N3%7
X"wann
a) Nwp
i) If X701 2 holds that X212 X%w &n2%:7 then &1t n should have said ®nobn
X275 Xow and then I’d automatically know by way of 19w 9> that X%w Xnaon
WK 27 72 M3
b) v n

i) X707 7 might prefer to say Xax 10 &kna%n because this 72:n directly teaches
that the 115977 is only Xax 1> and not anybody else — including both X257 and »
WR 27 M2

ii) while X215 877 802917 teaches only indirectly by 19w %2 that 22 95 X?7 Xn3on
WK 27
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;007 7T

X'wp X7 a"T10n"awn

"D R M7 27 MY "D ROWP KD 1'72 2'awnna [2 Ty uap 7]
DAR 7R R'OY MPT YA 19 7717 KD JAK 127 372 TN IR ITITRT
MRS W'D TR D120 IRITT P Doy 1D RDR 27 970 MRD IR "1
12 "2 MTR '22 IR M2T 37D INT 23 DY AR 7127 37D TINR MaT 97D
"MPY172 TN PN RY IRAR T "1 'R TR IR 2T 970 IMRYY 27N

1)

2)

3)

4)

5)

T 11979 3129 ST IO 25T 57D MRD2 BT RAOR

mawn at 1P A7
a) TRP 1°I27 M WL YRR 12 79002 12 200 L. 1001 phnni
Rlah
a) "»m72
i) DAR 7YY QTR 212 01w IR MTW N TR QTR 73R KD DR 71 DR 7YY TR Q7R
MW >N Q7R %12 W32 7P K27 Pw 0N
b) -1yoR "
i) R MTW WY OTR °12 °3w3a PaR 73 0TR *12 O3 DR T MTY N TR OTR2 170K
c) wphwn
1) DPN99Y NPNPD AT W N9 190" MARW TV QTN 212 "2 MITWw 22 1ap K owh
"2 manna ok onnw
Xn»a2
a) WP W TINAT P2 wWnnw X272 AR DR °12 21 MTY '22 AR 1PRR 1PI2T YRHRA 7300
Riplab!

a) the xn»92isn’t a Xwp for wph w1 — because wp% w1 requires his a special w>
only m12°7 75 x> while the xn>92 deals with 112>7 75 710

n"awA
a) the xn»0ais still a xwp for »»>7 27 and 1yHxR "
b) noRw

i)  Why not say that °»>7 21 and 2rv%& " deal with m12°7 75 9nKR? but 712°7 >75 72
they agree with the xn>92 that 117 even for o7X °12 '21 M7 "2

c) nawn

i) If »>727and 7rvox " in a case of M2°7 75 702 agree with the xn»1a that nap
even for o7x °12 "2y MY "2
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i) They should have taught that they agree with the xn>92 in a case of >7> 7n
7112°7 and we would have realized ourselves the 112>7 >0 AnRY it’s a 1ow 92 for
n*7 21 that > 1727 for X 07X NAR 77W and it’s a 12w 95 for 7rvox ' that
Pr2p 127 for TR 07X MTw onw and for TR °12 21w DR ST

6) X"wann

a) There is no X120 that supports reasoning by 10w %5 from m2°7 >7> 70 for m7w 2
Q7R °12 "21 to 7127 >70 RS for "o 'K n7wa

b) So the xwp of o"awA remains
L9 9T

Nn'n D1 aA"TNn"awn

SINP T AW TR PR M D W7 N'OY 7 2 awnna [R Ty bR 7]
TMIN2 Y9IDR 39D VT RNWIT XN20 290% 2R e an Doy "o
SONYT RPYOTD RN A1 7799 R RDY InR T RRNY T 2''nT N2 oawpna
TRRD 77297 023 NPT DOYHT RAITT R2WR KD TT RAPINND KDT K9Py
W RNDA2 ORIN RNDA 27 XOWT O'RT 212 197 anna 2 awas "o
RT7PN 799257 92 %INR 9T 9INY 1T MARIT X020 7 2190 12 W avwpn
NIV Y29 RN X7 112 9790771 R972'"'2 9" 577910 K2R NODasR oy
122 RROOR 77950 399D 22 991 97 B'IRY 7 unp 2''NT X017 T INDa
R''ND 9% TIA "D N2 21PR2 MR RDI02 DAk MIan P2 naY avan P2
172 2''NT 7ON5RR NS BT KD KWK PN AYD KD 22 9" 1107 B

22197 5199 ORDT RDWON 2''2 9" 3192997 1T AN T K92 KUK 17 P'INY
1) First nnTpn

a) It's more 12non that "mian 2 N2% W 22127 12 127 720" iS PP 1027 than nRY"
"na opnais Prdp 12T

2) Second mnTpi
a) 'R mwn at :10p 7 - 0192 MR KD W DWwn TNRY 720

b) The X3 assumes that '& mawn deals with 0°1277 12 32 and teaches the xn1an that &5
019> X even for %137 172 12

3) Third an7pi
a) xw-1of 'amwnat . Hp a7
i) XnP R — 0192 MR XY N2 DPR2 IR
4) Fourth mnpn
a) o"awnon the mwn
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b) Presumably the x»np xin of the xw> of '2 mawn means 0175 R X7 "na opna IR
but "o°1377 12 12" is Pr>>p 1127 — it follows that the Xnp Xan of 'a mawn is ponn
with 's mawn

5) Fifth mnpn
a) X9°0 of "2 mwn — P12 12 1IN ' — PRYP 1PI2T WY MR O HY IR DR
b) The &anx is » 1 pw on the meaning of the words of jam» '

6) X

a) RIIR M7 — 37102 72 33m°  in the x9°0 of 'a mawn holds that 1P 1127 for 1232
0°1277 but that 0195 2K X2 for na opna nx

b) xwp
1) Xnp X wen
c) yrenof "o

1) 7p1n2 32 1AM ' disagrees with the Rip Xin and says 1»>°p 1127 even for anx
na opna

7) o"awn
a) The yyn of "&non >21" assumes that
i) "% mwn holds that 2175 anx X even for 0°1377 12 12

ii) the xnp xin in the xwn of '2 mwn agrees with ' mawn that 2175 2k X5 even for
0°1277 12 32 and he mentions only na opna ank by way of 11 m% % PRy
namely

(1) " that 2195 K &2 0°1277 12 12 @s mentioned by 'k 7awn
(2) "y 1% xR that 2195 Tk &5 for na opna anR
i) 7172 32 33m ' says 2R 127 even for na opna NR
8) X"wann
a) Nwp

i) Why doesn’t 2"awn in the y12°n of &n°n 21 more simply follow his 7977 in the
mawn — that there is a npYonn between '} 7awn and the &»p Rin of the xw of
'2 mwn — and say that

(1) ' mwn holds that 2175 7 X7 even for 02127 12 12

(2) xnp xan of the xw~ of "2 mawn says that o°n»>p 127 for o127 1°2 32 but not
for na oypna TnX

(3) ap1na 32 1M " says oonp 12T even for na opna Nk
b) v n

i) Now that x»°n 21 proposes that 7172 32 1am1° " disagrees with the xnp xin of
'2 mwn there would be a three-way npyoma if the xnp Xan of 'a mawn is also
P with 'R mawn
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ii) o"awn prefers that there not be a three-way np1onn
9) Twni of the X3 — v of "xnk w2 K" to the Xowp that Xnp 810 137 72172 12 1M
a) '& mwn holds that pn>p 1727 X even for 0°127 2 12
b) 11232 1 ' in fact is the xnp Xin of the xw and »onn o0
i) Inthe Xw™ — ap1n2 72 1any " teaches that 0195 2k &5 for na opna ANk
ii) In the &9°0— 177172 32 713 " teaches that 1P 1927 for 00127 12 12
10) R"wAnn
a) Nwp

1) Now that we’ve established that in the y17°n of "&n°n 21" the X713 assumed
that the xnp xin of the xw of 'a mawn spoke in terms of 7 % g PRI

i) Why didn’t the X3 more simply — without saying >1om» *1011 that '2 mawn is
7172 72 1AM " A0 — explain the mvw this way

(1) 'x mwn says 2123 17272 PR even for 00137 P2 12

(2) xnp xan of the xwn of 'a mawn agrees and adds by way of 17 w217 7 PRy 7
that anx 01pna na is certainly 0195 11272 PR

(3) P12 32 1 ' in the Rovo of "2 mawn says that yn»>°p 1127 for o027 12 32 but
0192 11272 PR for N2 opna nx

b) yn
1) If the 71x of R"wnan were correct

(1) It would have been more logical to arrange the mawn so that the xnp Xin
who says his 77 in "2 mwn before 7112 32 1am "1 mention his mvw that 85
012> R for 021277 12 12 because it’s for 0°1277 1°2 12 that ap1"2 72 1 ™
disagrees with the x»p Xin and says Pn»p 1127

(2) And we’d have understood ourselves that 10w 3 that the x»p &in holds that
na opna IR is 2190 11272 PR and that the x»p Xin by way of 17 R 11 X7
teaches the greater wh°n that o172 17272 X applies "1 Ax" even to 1212
o°127

20w n"1Nn

R257Y RIWIDT 290 2w ans Doy X7 P R A 91w 772 'on
RIT7 RN 17771 9229 9213 RPT RP 792 12 RNT P77 2WWRT DRARWH RNT T
R 2P "o 12 1P MIBDINT WNIDR 12 IS YIIITT 2R "D IR
QXN ANVVIPR TR0 KT 2ITINAT AN IR DI MR PINT
NI NOT3 MWD NIDTINT 91272 1P NINDAL 127D RIN 1T R 1T
P9 RN217 212 ARI KD KT P97 K27 RIWOS ORIT 2010 2" XYoo
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RZY1O0 RDR ORT X277 2RI 12 R IPT RYT XP 99T Rwp Pwba
19'"™Y T2 3202 PPRINT RAP P52 '9IN2Y "D RAT PPTY DI 01 v
1) mnpa

a) v of muws pon is stronger than the nwy of 77132 Pon since mw ws pon shares
in PrmIn20 "X but 77192 P91 doesn’t share in "XA

b) It follows that it should be more easy to be 77122 Pon %2y that’s weak than to be
VWD Pon °avn that’s strong

2) X>1D"MaT
a) 137027 91 KL...11 DR IOMIT ara M
3) X

a) P02 72 3 " derives from 12 ma 01°2 that a won can be mwws phn 2avn and he
derives from 122% 927 R that a > can’t be 77122 P70 P2vn

4) xn»12
a) noRw
i)  Why are both Y9°r177 o2 and 152 551 X2 necessary
b) xw of the &xn>12

i) If the moo said only 12°m17 ora (that there is mww» p%n N72vn) and didn’t say
152 921 &Y (that there is no 77132 pon navn)

(1) X177 XM PDW

(@) Since 17°ma7 ora teaches muws pon n1ava | might think — 915w — that
there is the following 17 (\mym 9p): if there is 772avn for the stronger
muws pon there is certainly 712y for the weaker 77102 Pon

(b) "192% 9o X% 2 Ton" to override the 2 Hp and to teach that there
is no 712y for 77102 Pon

ii) xo°0 of the xn>12
(1) If the poo said only 2327 951 R and didn’t say 1°ma 012
(2) X171 77 ROM PW

(a) Since 102% %01 &Y teaches that there is no 712y for 77102 P2 | might
think that there is the following = %p

(i) if there is no M2y for the weaker 132 PO
(i) there is certainly no 12v: for the stronger muwws pon

(b) "% mam o2 Y% TN to override the amm SR and to teach that there
is 712y for mwws Pon

5) % 7m0 3"7 Moo on Yp A7 at 'a Ty
a) For areason not relevant here it must be that
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i) Even if there were no mo» of 12°ma77 o2 so that there would be no amm 5p
based on Y>°n17 ora

ii) 9223% 951 &2 would still be needed because I’d think that the weakness of the
7wy of 7752 pon makes it 1anon that there is this 712vn despite the 17 that
7702 200W 731 PY 1INk DTN PR

6) mooin at MW "y
a) "R 777 RO 07 R
7) H"wann - R0 of ;oow a7 mooin

a) It can’t be that in the Xw>1 of the Xn»92 we’re "X 17 X2M 712°w" 07 since we’ve
established that — even if there was no 21m %p from vws P51 — 752% %51 X would
still be needed to teach that there can be no 712y of 77152 Pon

b) but X7 127 X2m 2122w is correct in the X9°0 because it’s only because of the amm op
from 152% 9510 X7 that without Y2°m177 01°2 we’d have said that since there can no
71avn for 17102 Phmit’s a 19w 9o there can be no 12y for mws pon

8) "w a"7 X"wonn
a) Nwp to "wan

i) It’s a pm7 to say that 212w 1"7 mooin relies on what mooin is about to say in
1% TN "7

i) It’s also a pm7 to say that maoin proposes a different xona for the xwen than the
XD°D

b) T2 of X"wann
i) This is what ma01n means

(1) xw1 7 82 2>°w is usually a xowp that asks “Why do | need a oo to teach
a 17 when there is a 7 m 9p that correctly teaches the same 1°7”

(2) But in both the w1 and the &5°0 the xn>>12 teaches that a 7109 is needed to
overcome a m op

7

7 Tmn 2" T nivoin

122% 5293 KD B'"H 312091 N''RY 02R Do KD B''n ''Ta [2 Ty bR 7]
122% 2217 RY IRD OR 3329 RRINT ROWIP ORPY 2?1 2o "D non T
PRI W o’ MUIYS PRI AW D297 22 9" Y9It ava T M
77975 79 NOR 922% D213 KD M1922 30 YWAT RNWT DAk nuwb 91997 702
2''2 9" Y9TIT @A JMWIT KDY MWD B2 RO nwd phn w''onT
MDDIN VPR IUNRT 2IM2TD DKM AW TRWT IR R PR V'Y

2T
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1)

First 7a7pn

a) 1P 72 1 " derives from Y2°man 011 that a weom can be mwws pon 772wk and
from 152% 951> X7 that a w1 can’t be 7122 P9 avn

b) 7127 say a wn can be avn neither mu ws PHi nor 771102 Pon

2) Second nTpn
a) Review the prior m2°7 in which a2 32 7130 " says if there was only Y2°nan ora
and there was no 152% 21° X? we’d have said once 17°m3;7 01°2 teaches 51 12y
v then by v m p there’d be 7152 P%n navi and that’s why the 7109 needs to
say 102 9o &Y to teach that there can be no 77102 P9 n1avn
3) mooin
a) Nwp
i) since 1121 say that there can be no vWw»s p%n n12vi7 — and presumably aren’t
"9 012" w7 — why do 1121 need 152% 01 XY to teach that there is no
77192 PP nNava
4) 9325 907 &Y "7 R"wIn
a) Nwp
i) Say that without 1527 957 &5
(1) 1321 would start by saying 12°mn o1a standing alone would teach n1avi
mwws pon — the same as 7112 12 1M '
(2) muvws phn nnavia would have been the basis of a =mym %p to teach nHavn
7792 P
(a) If there can be 2y of the stronger mwws Pon
(b) There is certainly 712y of the weaker 77152 pon
il) 2527 %51 ®Y then teaches there is no 7722 PP nnava
(1) A= m p then teaches that since there is no 772y for the weak 71122 pon
there is certainly no 712y for the stronger muwws pon
(2) So that in the end it must be that we’re not "%°n371 212" w7 to teach
muwo P51 N1avn
N7 71

Nn7T A" T "2 TIMya nivoini N ynvi n"'1n

RBR 71915 X5 7''2 SRIN 57970 R "0 BN 2w 1'772 [R TR XOp 7]
SRR 10 7920% 7''0 IR TAKY 539 9757 ORMKR 3"'RT "' 5O "1 397 S1an
2T STAVWRAR DU ROW N7 057 73 IRINT RMON STAVWHRM 00 KD

'Y TR WY answ 3" anNT WITIMR NNIA
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" naRP Ew [2''RY] (A''R) RPADY2 XU22 R KD 2''2 0" 2wty 7''Na
12YW '0INR DR "D annw 1m
"2 2NOIR NI ' MARTR AN ORI RIN22T IR 'R "D X7 772 "o
" ARP TBW RIM22 NI RDT 1KY R 1anow 'ownn nuwh pU's b'ay
TARP RDTA P'ITT PIIT2 2RO 29 9T IO MIDIND ROV "D anvw 3m
BOpH P0R RIWWR 277 T 1PN KD IN N2 MR OR Y22 XTIRDN
2 IN2T RTIADND 9 YRRRT 'R NN O'YY 2R X922 iR B''w
RII7 92 7M27 D R7IADAD 790 RO KDY X122 199DR R PPN KT
MWINT? PPOIIZT "D ANOIR NI ' MRTR AT AR MR VTITD PPN
RI97 92 9IN27 AR OR D'RRR DY "0 TR AR AR TTT RN
MIYIMS2 NI T RN RONN RAWTT 22 9" [aR] a1 X922 PPN
t2'TY 2T INGAT YA 91272 7772 DRI 119279 219
1) First mnTpn
a) nrwnat.%p a7and op A7
i) 7PN 32 730 M — 2P 1727 AW R 190K TR 7200
il) 7327 —7nK% 7270 PP 1127 only mann Pwoa
2) Second nnTpi

a) If 12 gives to nwnw a an ANk, ovan 7inn and 12387 then sells the 7ann to % —
so that the mann becomes "7aywn" — Pynw after 12187 nnn can be A the »7aywn
from "

b) if a w>n sells his o°001 a w1 can’t be A the "Taywn" from the mmp>
3) Third 7P
a) 1°72°7 112 nand
i) isa case of "1 nKR? 712
ii) is written when %2 is X2
iii) deals with a o21w% 82 X5w 727
Iv) isn’t A from "72vwn"
4) mwn
a) WY WL T N WA 19T 112 N2IND Pamd
5) xn»2
a) P12 72 31 M5 WYY PWHA DoNIWH DNdPw —°277 07227 101 M

b) mann WY 11277 N0 NWHA WRNwH 17377 1712 N2INDT AR RN — 2 77w 219 20
73272 X°NR)

C) TaVWnHA 720 KT 119 NN NWHA WhnwnT °9227 101 M PTIR — 2 70w IR °27
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6) X

7)

8)

a)

b)

d)

X°v2°R by 829

i) Does P11 12 a1 say that Pn»p 19927 7w w2 x> 20 only for 20w
yIn

i) Or does 11112 32 13 " hold that 7wy w2 Pr»p a7 also for 802
Xwawn 21 and »»ax before he was 177
i) Since 1™>°7 112 N2> is based on w7 and is written when the 92 is X>72

i) The xn>™2 proves that for 7p12 12 I ' @ Aw Pw? is 1 1127 also for
X2

X°wp of x99 27-as explained by npoin at 7o ynw A"y
i) 07w X2 ROW 27 7Ipn DR PR XM

ii) It follows that that 1°32 n2wn> is a 7 n°2 °Xan so there can be no proof from
"15°7 112 n2nd that 7p172 12 13me " said his 17 for &2 also "knPvya" — meaning
in in a case other than 112°7 112 n21n> that deals with 291w% xaw 127 where
there is no 7 n°2 °Xin

717°n of »ak to the x°wp of ko9 21

i) If 7P 32 a1 says for xinbya that aw WS doesn’t work for 812 — then
for 195°7 112 N2> the o°»o1 wouldn’t go so far as to be Jpn» not only that the
72102 applies also to 07w X2 X5w 227 but also that a 7wy pws works for nand
1"75°7 112 even though it’s written by %¥a when he’s a X712

i) xwp
(1) But 1327 need to be jpnn a nwr nw for 175°7 112 n2ns in order that the

17 be »1avwnn A u X

iii) y1°n
(1) 3327 Who were 15°7 112 n21n3 jpnn could have been jpnn also that nand

1°72°7 P12 isn’t “7avwnn 9w even if a mann b is used

X" at arn yaw 5"

a)

Rowp

i)  Why then did »2n after he was 1777 say that 172°7 1712 N2> can’t work as a
71nn because then the 1737 112 N2> would be >7avwnn 90

Twni of the xmax

a)

»ax K 177 as first understood by mooin at xn%7 "7

1) 1°2°7 172 1o was "k 817 02 72" and as a result — for a reason not
relevant here — we can’t derive from 777172 32 731 "1 that a 7w 1w works for
X>12 also RnHva where there isn’t the benefit of PR X317 52 7m2

i) Note that x'wawn 27 wasn’t "2 7771 and still holds that for npa 2 ™ a
7w 1w% works for X012 even Xnbya
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9) Twnn of mooin at nn vaw a"7

a) Even though 112°7 132 n21n> was PpneR K107 °2 7n2 still — according to the &0 of
TWRI 0197 — °222377 101 "1 said to v27 that "3p112 12 130 12 aonawn anciw" because
1327 who disagree with 73112 72 137 " would say that 2175 19272 PR AW Pwha
for 192>7 132 N2> even if PpRR X172 T2

10) qwnn of the &

a) PN RIT 020902 RADT PPNOR K17 02 T02T XN
11) mooin at xn7 "7

a) nvw of "

i) The & nx asks that 72172 72 13 ' wouldn’t have said 7371 "5 oonawn answ"
"1 12 if PPk X207 22 7n2 because then 1321 who disagree x»%va with jam» '
12 7112 would agree that for 195°7 112 n2n5 the 197 iS P°°p 1127 even Pwha
PEi7AmE

i) And since it must be that 112°7 1312 n2112 was 1K X107 °2 °1na this proves
that 72172 72 33 ' says Pr»p 19727 7w w2 also Xnvya

12) X"wonn at ’no>7 "7
a) Nwp
i)  What proof does *" bring from the "noniwn on»w" of 1n1 '

il) After all we’ve established that it’s possible to hold that 172°7 1312 N2> was
TPIPR X217 %2 712 so that there’s no proof that 72172 12 13 ' said his 17 also
Xn2ya — and still 3n1 " can say n172 12 130 "2 aonawn anew that nwe s
works for 112°7 112 21N> because 1127 say 7w W doesn’t work for nand
1°75°7 1712 even though 1°pneR X3°7 %2 7n2

b) y1n

1) "3 means to say that the xnx doesn’t end with »°n and never says that the "“xn

of x>wawn 27 was T1om

i) So it must be that when the X973 says "PpnoR K17 22 7727 *Ran'" the R
doesn’t mean that it’s a poo whether 1pn°X X31°7 52 712 — instead the X723
decides that pn°X X3°7°2 02 °&7 S0 there is proof that X922 72172 12 13
TR 1 also Xnhva

C) noRw
i) Why in fact would the X m3x decide that 1°pnoX X217 °2°9n2
d) mawn

i) Because the mv w of »axr is pm72 and it’s not 72non that even if X17°1 712
ppnex still 13127 hold that 135°7 112 n2103 isn’t valid fwrd Pwha
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N7 7

AWNI 2" TIn"ana n"awvwn

"2 INWRY 112 N2 MR IR N2 12 7"Ama [aMawnna] [2 Ty X9p 7]
2972 K17 397 R''RT R0 2MD0T NONAR 7T 90 v A bya By
TR IND IN022 TR MR INWRT 7'A7 Dya ey 2'"awnps K97 250
BIN TR DAN TITADM FININT 700 RVIDY 112 32 1D A1 1157 KON wan
TR DRI 9M2TY TITADMY NI XM RIT AN IRPD 9 RwWwan RN
VAR FONDIA POY VPAT INWNRY 12T T ROTR DY war BRI 712 Pan
ROTR0Y 7199 ROpan 1P 21K 571982 DID1MUDN 2R INWNR DA TInn 2R

ST DRIART F7ONDIA 11997 anN

RIP7 RTIN072 KOR 2'' 1771222 192977 9K 12 DR 7Ry 772 2 awana
111997 R312997 91 ONR DITAT 12 K97 N0 02 o B ans B'ay "o
TR PR W'Y TN I D'OY "D PITAT 112 RUWS 9ph nNR 7''ONY
ARR X7 ORI INWR TI20R N 112 TIA0D QTNRT AT DY P RWWwD "'y
972975 DRIARD 99 TIRNT INWRI RWIWD D17 1122 ARPTR RN 2
BY AR DIDMVOR INRWYT DRIVW AR JUP 1122 DR RIT 712 00T BN
NSORT 22 5P N X257 799 ROpan 2nR 79K TWRY 17259 RIN X297 23
No77 NOR INWNR 7207 12 278 7205 Wi vuT 2"'YT KUK 177205 NIM
RO77 RO AR RYTW INWNRDY 2RR TIRY INWRD XOpanT w'at p'p
P9 IR ARR TR INWRT 2R RAPY 1TT MR DIDMVOR INRYT
NoOpan 77'"7 27 9% IR JUR R ROPANT N7 028 %1 DD RApT NN
792 MR 23 RNT 127 217 5100 RUORD B17A 11227 2% JUP 1122 Y
77207 RI7T KPR RIPRT 228 UHR INWR AN U 1122 2"'RWH RIPT XN

15""PY MWK DY 112 7207 XYY DINRW KnYR 0 ja8 PIAT TWON

1) nnpn

a)  ROR 22pn7 WWY KY IR 9apnh 00K 172270 1P MWK DOTRIRY 22p1n7 1021 93 2mon
2195 2pn? 1R DIDVIOXR

i) OnRR RIW INWRI 191 — ORI
i1) XIPT XN ROR 771202 1P2°°0 PPRT 12 °¥201 HYaT 012 PIXR WK
iii) D1DMIdR 177 12
IV) DIDMWIDR 7717 WOT 110w 17 22K 101N VP
2) 2"wonn
a) Xwp

45



1) Why is it relevant that the 2vr to be 7201 is only a 870> — after all the 2vrn of
1PIR to be 71737 132 7207 s also based only on a x>

3) X"wonn at nwRy "7 — y1en to the xowp of H"wann
a) 9"wamn could have asked these further nvwip

i) First x'wp — Why does the &3 need xmnw to teach that \nwx who is 112 ox is
an xowdx even though their 21 to be 720m her as onX is a X7 Xpn

ii) Second x>wp - Why is it that 70°9v2 01 Jup 12 is an 01WIBK even though
there isn’t even a X1 to be 7201 him

b) Must be that

i) The x7mx accepts x120n that a person wants his sons (whether 173 or Jup) to be
72197 more than he wants 712> for his wife even if she’s onx regardless of
whether there’s any 7125 211 for his sons

i) it’s only when the X3 compares 1wk who is 112 ak to \nwR who isn’t ank
that onx is more certainly an x211v10x than onk 7°k because onxk needs to be
7219 under a Xon &pn while onk 72°8 needs to be 72101 only through a xn>

iii) and it’s only when the X373 compares 9173 12 to Jup j2 that say it’s more certain
that he intends 712°5 for 9173 32 than for another 32 because for 173 2 there’s at
least a

Xn7'T "1 'oIin

See n1n vawl 7"70 at .Xop a7
A 97

vy nxnn? n"1nh

TAINY RVID B''ap INM 790 0 wWIRRS axma® 1''7a [R Ty abp n7]
"o WOBRD IRMTAY ORTT IWRWRD 1WA 2579N2TR RN 9oy "o o'-
NR 290% FTARY P90 RDT WOBRSY RmRbaT R o9 RN InpT
WA® PrT1 DWNIRY INWIR TNAND TAIRT RVIWD INWT WY MDan
TPy TR PRI 2" AN YRR NN 1102 'S
1) xn»m2
a) XM

i) W a50m K27 7301 °2w1aT YPIpn 1A 021N 7213 INWRY 1031 MPD 20N
YR SYW 7n2nd

b) o0
i) IRWT M N2IND 720 302N WILWD nxnnG
2) nmoon
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a) Nwp
i) What does the x9°0 teach that we don’t know from the X
3) H"wann —x0a of the xowp of mpoin

a) mooin holds that by 7xmn? the mawn means that va gave to awx half of the 71 of
his ypp together with the m=s for that half and the mwn teaches that she’s not
nmn the T1avw she has for her 712105 on the other half of the 713 and the m1 of
that half

b) That’s why mooin asks

i) Once we know from the &1 that she’s not normn her Mayw when %v2a gives
her all the m~°5 on his o°031

i) It’s a mwws that she’s not nomn Mayw if Hva gives her only half of the m°»
c) xwp to the xwp of mooin

i) Maybe we need the x>0 to teach that she’s not nomn her may>w even if she
takes half of the 711 besides the n1°o of that half

d) y»n

i) It’s not 1anon that — because she gets half the ;i and the nmy7°o for that half —
she would be 5m her 72w on the half for which she has neither 71 nor ma

4) X"wn

a) We understand the x*wp of maoin better — and we don’t have to rely on the y1°n
that “it’s not 1anon” — if NMoOIN means that in the xo°0 the %¥2 gave the nwx only
ms of half of the 77w and nothing in the a1

A T

NN NAaNT 77On 2" Tn

W 7T A 011 TURON IRAR "D P''RT 9900 ''a [2 Ty 29 7]
RN RDT 7192 9102 3T AR T KD 317 22000 170 X1 KD "oy N0 hap XY
RAY ID MWD RDT 2WIINT 7772 PINRT 21N 92T Dk KON XNvNaa o'
72900 RWIM2 SINPY 57200072 REOTY 779207 1190 RO7 00 19107 b syay
ROR 772°nD K92 7792R RDOD2 MINORD W TIUINOR KD TMRT TRap N9a
221171 9INPT BTRRY 7T MM RDINT
1) 78D noo»a mwn
a) Rw™M
i) 7N2IMND 772K 177 22 YRR INWRY 207 1127 1°021 2M7
b) w90
i) 7% 205 X5W D 5y AR VoY 793P OR MR 0 '
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2)

3)

4)

5)

6)

X3pon of the x7nma as explained by m»oin
a) Nn»p RN says n2IN2 772X only where there’s 72°n2 and 1772p
b) >o1 ' says 772p alone is enough
Xn12
a) "7 M is waon the Rinp Rin
i) A22°P1 W N7 XD ROXR 79 2022 N2IND AR K7
il) 7N2N5 7728 KD QW A0 KDY PHY 720 W A92p XD QW 000 9aR
mooin
a) xwp to the qvw of nmi "

i) The nvw of >or " proves that 722p is a stronger o7 for n21n> n7°ax than and
n%2 and ow an°a

i) So it would be enough for 777> " to be w9 for Xnp Xin that an 7wR isn’t
7n21n3 772K even if 7923p and 7% 2n> but aw 7n°n X% and we’d understand
ourselves that it’s a mu ws that 7n21n2 772K XY if oW M 7% 2ano but 793P X5

R"wIN
a) Nwp
i) mooin ought to answer that 777> " is using the 191 of 1 A& 7 R
(1) not only is there no 72105 n7°2R in the mw>ws case of 7% 2n2 and ow 7N
but 7%2p &>
(2) there is also no 721> n7ax if 77291 7% an> but aw nn°a R
b) v
i) 777 " wouldn’t use a 7%mn of 11 A& 1 R since his purpose isn’t to set out his
own 17 but is to be wnon the nv>w of the Xnp Xin
Tqwan of X"wann

a) Earlier in the x>x10 the X7nx considers that the 7awn can be >0 " 7915 and "ov '
says in the X~ that 72°n> is enough and in the xo°0 that 7227 is enough

b) noRw

i) Since n2°n> alone is enough why does >0 ' also need to say in the xo°0 that
792p is enough

c) nawn
i) Since >0 " says his own &7 we can accept he speaks in terms of (xw°12)

(X9°02) 7 M7 X PRI — namely 02100 772K if 7% 205 and it’s a mww» that
7n2no 7R if 7ap
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Xn7T a"T n"awn

YIRS NN 7727 PO 12 90 RRDT ' 2''awana [R Ty abp n7]
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A7 a7

N T A"T 0"awn
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HPY 1D MR RIAANT 19 R N

"7y XA A" T nivoin

5"y 19 195772 1227 19921 7757 19 JNIY 19951 an57 19 1Y X2 7''72 'O
WO 7Y DT 93T DY 2DT 2101 KUK 77 KD S1RT 22w KO
1312795 WO IOV WNIBR PIRTY

T O

MX NN AT MIIT AAXRT TN i AT n"avwn

@'Y "2 IPIAN 2012 9% @Y AR 10 anm awn 2''awnna [2 Ty T0R 0T
T2INIT 192 9N PIRWD2 KT 2R 7T 90 Doy 10 INSR MIRY N NN IR 9IBNT
TARI IR 7OT @Y 9% WY MR T KD ORT yRwnT ammate »''p ban
% PRI AR Y9 WY RDIDA YINPT TR DY TIDIRY TARD N7 179 7TI0IND
SIN AR 77N MW 20D TN TITA INPIAR 19 PIDRT 00D U IND ava
TRIIT? JARI AN VAR KUY POY TOUR 'R 7Y DRI IARI N AN
27K 9122 KDY MIN2 KD 2 PITI RDT inn 2w w'RET PR Par anpinn
RDWIT 5"y PIYD NN AR 90 NORT 070 IR T9IDNRY NI %12 Y w
Y70 KON RIT7 STTIONK N7 2912 19 WIT 70Ua AR 1T KD ON ONTIT Rl
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TR QI RYN STUONNY TARIT JWRW KD ANTT 1I0RR 110N N 790 NONT
"ERT JOVIAWRD RI7T UINK TOVIOR AW 297V IR 2TIP RNMNP
17927 9ORIT 2T 2°12 17 WOT YD JANI N 79 NONT NOPOYR PImIna

2T TR

SRR PIRY AT DWNR Doy PN APNANRD M7 IIRT 7R3
RIPTY KD DaR RIPIWNAT IPIAD OPIIRD 7O NIINRT 7O1MAD B2 IRD BN
MPAIIRD SIINT DYAT TIMRITR ORPT WOBNR TOWWDDT I 7' AT WIS N

T my WY RN PODT VRN WD ROTI2 101 19 RNMNAR AP

H"OY "1 7190 TMONR PR YPODR IRTY RTT 12 RDID 479 "D ONKR Ko7 7'M
199 MINRT PITING 1197 J1ORPINY AR 90 W2 MMORD TARI AART JN1 T TN
TYI29TR ANTT TNON PAW 19BN 9557 INDA K7 7790 MWpn KDY 23122 KDY MR
FIPIMM OPIDRD 19010 T 2NN 90 PRI 2%12 90 20 NART PRI YT
NYWR JARI PRT 2N7T 927 9D U''RT N DYWA PhR T ON RDMRp
YT R PRATIR NPRWT IN2ITR VTR STI0IRD 1IN
1) First nnipn
a) An nwx is 02°% appr if Hva has o°nx but no o712
b) If Yy isn’t *nxa prmia the nwR is 02°% AppT ArRW npma even if 52 isn’t °122 prmin
c) IfHvais nxa prmia the owx is 022 apipr unless it’s established that there are o°12
2) Second mnTpi
a) mwnin PR
i) Rw™M-—InKR1D°12°0 W
il) XD — MRI WK 0°32°7 PRI DR V7 W
3) Third fn7pi
a) mwn here — 1R IR TR AT 7RI 12 AT MR
4) X3 here
a) ToRw
i)  What does our 7wn teach that we don’t already know from the 73wn in pPwp
b) nawn
i) The mwn in Pwp Noon
(1) deals with an nwx who is 02°% apIpr 7RW NP2 because Hv1 is nR XY npina

(2) and teaches that Hva is K1 to say *12 2 w» because this supports the prmn of
the qwx that 02°% 7PpT 798 — but Hva isn’t 181 to say °nx °% v because this
is p>on the npn of the nwx that 02°% appT HR
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i) The niwn here
(1) deals with an 7wk who 02°% 3PPt npna because va is "nx npIna

(2) and teaches that Hva is still 1281 to say °12 °% w> based on 1 he could be
qvIo the nwk from 012> by P

5) o"aw~ here and >"wA in PR NooN
a) First 7398w on the mwn in PR

i) Since %y is onx X7 nprna so the AwK is anyway 02°% appr IrRY AP — how
does %va benefit the nwx by saying o°12 °% w»

b) m2wn as explained by &"wann

i) If 9va2 doesn’t say 0°12°% v then a third person who later says xin°n7 >mnx"
"x37177 would be P1w? 710K 1aKa

ii) But now that 2 has said 0°12 > w° the third person would have no niunxi to
say X117 Rin7 minR with the result that the nwx would be pw% nann even if
in the end it turns out that there are no o°12 at the time of 7%va nnon

c) Second oKW

i) Why is it that Hva is 181 to say 0°12 °2 @ but a third person isn’t 72X to say
RIM7T RINMT IR

d) 72awn according to the xoma of 5"wamn in o"awn

i) because the third person has no ninx1 to be "pma" the 1pin of the wx that [
02>% 19°7%

e) nawn according to *"wn in YR noon and the ko7 in o"awn of R"wan herein
ITRT TR

i) because the Hva has manxi to support the nptn of the nwx that 022 npIpr nK
6) X"wnn at ong oawn A"y
a) Nwp

i) We established for >"wn and o"awA that if %v2 doesn’t say 12 *% w” a third
Person is 1aKR1 to say XIM7 RINAT HINN

i) Why so

(1) We established in the x2°0 of the mwn in w7 p that Hva has no minxi to
say °12°% PRI nX 2 w0 to make the nwk be 02°% npypr — why should a third
person have more nunxa than Hya

(2) and in fact mv says that a third person isn’t believed to say Rinm7 *mnx
X117 even if he’s supported X 7v2

b) y1°n based on the nuw of W'k

i) If Svais °nx X np1na a third person in fact has no nianRi to say XinnT MmNk
X177 unless he’s supported by two 2°7¥
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c)

i) Now
(1) From the mwn in pwrop noon we’d know only that va is y2omn to say % w»

0°12 only before o°nx >7v come when 5¥2 is still *nx X7 np1na so that the
TWR IS 0% APPT APRW NpIa

(2) The nawn here teaches that even if in the end there are o°nx *7v we can rely
on the prior statement of Hva that 0°12 % v even if when %va said o032 °% w»
the Sva was °nx npma so that the gwxr was 02°% apIpr P2

Note that "aw here says that Hva isn’t 1281 to say 0°12 °% w» after there were 7y
DN

7) Twniof o"awn
a) ToRw
i) The mwn here also says "7aR1 18 *nx 1"
i) Does this part of the mawn also deal with 212> *2>7
b) nawn
i) No — because we’ve already said that the mawn here deals with a %va
who’s iR npia so that the awR is 22°% appr and is P 7oR even if Hvais
pmw and says nothing about o nix
8) X"wan at *nx Xo7 7R3
a) Xn72in PYITR Noon
i) 301" says that where that where there is a >nx npr the Sva at 0o nvw is 1K1
to say "nx "% v
b) xwp
i) Based on what a"aw" just said the 7wy should be 7ox even if the ya was
PO
C) yn
i) The xn>n2 deals with where 5va originally at pwyp nyw said 2 Xy 022 %% w°
1R — and because of this x> the qwx was 02°% PPt 7KW NP2 and that’s
why if Sy2 were pmw the nwx wouldn’t be 02°% APt
i) And in fact »a1 relies on the xm°» at Pw17p nyw to be van what Hya says at
o nyw
NP T

N7 winn 'xn7 n"T1T n"awn

2312 9% 2 NIYY2 NWDI TN MR 11D WA ORRAY 57''72 [R TRy R 7]
NN RO 2932 9% WO NIYUR STNIR MWD T ORT NN WA By 1o
2312 99 27 NIYVART 1957 KON 19 7NN PR PD NI 9727 Ban b
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07 T

NN ATy 217 177981 TUNA Mg X7 2T T niooin

MR 7Y 2792 Y AR KD TR N0 IR KD 7' noon [2 Ty Yop 07
Y9DI 19 WITR 2I0DIT NIA 12T NRW TOAT RO O'RWHA 'O "o uw mepw
Ty w''an 9apa 327 12 2''IR awWNS NIYET 2N 257 J2 N1

I KD 1R N2 AR 12 90T N KDY "D MRT JIY 299 19IDNY 7''Na
Y70 KD W N ANRT AR TR WD PIMRT TR oy "1 1w b
{330 277 IR WTIMRIPRE MR {aneia 1R RWP RY R W
TARP MWIHWH TTIMR AN RITT R2TTY 7'V ORTY RIT 200 1 (B'10)

19'1PY 1IN WD 10 KD IR 92 1797 19BN

2% 399D SNMIATD "D RIT ORIN TIMR RUR 1D w2 Runm 1''72
277 RNMDD INIMT RIT TOMDIN NPT WP NP 0P "D PR A aw
RN3BD IR RDT T2 TIARD KPY N1 PIp2 A9DT 901 RIAORT A'Maw)
TIDW INIMT FINTI NIBOIN JIA CNRIM MW 192 93WDT K20 PR TINN2
NIXT 217D 77T OR NINOD PPIPA KDY 371 M Y9IDR 3D TN o' YT ONIN
2R DY PRI VW 77 KON WD 0 PR A'"2wNT RRYY RITT IRD ON
2N D MM 9129 7797 KDT RUIRD RTIA NIND IR 2WWAT TIMR MRT
H'"5m7 23 DY AR WD 711 2RTT 200 7770 219 98 Doy 1101 9190 1R
TART RO RONX 7Y RDIAY 7AY 9790 AR KXY "1 INR AR "2 W'
TARPT XTI A2 29D KDY 1D ART 02 JNT IPAINR 1T "D PRoyn
"D TN 29T 11D IS ROTT NI PR 20 M awn D " ' yama an
VIO INPT DOUDT RNYM2R NERT T WY PR v " a s w''y By
AR TP NYNOD PIP 2N INT AR TIMRT MO2MID WO ORI PR W
2''29755 1257 WY 1Y KD AN N T2 WNY 1277 NR2 ORI PPN P
97297 R2ORT 179237 777 PPRT KPR NI 1710 57199 NINT 2R7 W10 XOR 20wb
197 ANRIT WD Y ORI PRNINRR RIT O RVRIPT RDWTT RN20 211

TP 'YTY TIRTD PRI T2 2w WY 7Y YR a'aw
1) mwn

a) DN AR XN RY (MPD7) an°n IR (VPR A1A2) 01977 112 J2IR12 1POII 713 2NOW APy
2132 M7 QW

2) XM
a) PR I KD MY M2 — 2Py 1 0 NRYY MY 1990 070217 12K 107 1R TIwnT 19IRA
3) ao"awn
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4)

5)

6)

a) 198w —who is w1 the o°021 that 321%7 sold
72wn of o"awn

a) 2Py’ W are v the o°on1

72wn of 22 in moon

a) 72n W are waY the o°0201 — because when j21x7 died 12187 32 was w1 the i of
the o°o21 and when 2py° later died the n17°0 were wnwnan in the 22p of j21%1 and
passed from there to 32187 12 who already owned the a1

Twni of mpoIn
a) nnTpnto afirst xowp to 0"
i) 'R&nUI2

(1) WX »ma 1w nn oR WOWH MAT MTD PANRY AW? MO PRI PIWR? 11D
TR WY 2°031 1

b) First x*wp to0"2m

i) Why doesn’t 'k Xn>12 say that the 91 belonged to w5w from the start and
when *1w died *w>5w was also 1707 in the ms

c) yrnas explained by x"wonn at m1p X2 7"7

i) The am> intended that >w>5w take the 713 only after »aw was %ap» the ms and
died afterwards

d) n7pn to a second Rwp to "2
i) 711w of xnao Ry

(1) »m21 79¥a »n2 N72 R2OW X012 5 R ORNTYY 77021 RN20% 2021 AR RITA
NM2 °wArh 821 XN2D SWATY 2°021 PINAT 1AV 27 IPRPY XN20

e) Second xwp to 0"2™
i) It follows from 71y 29
(1) that
(a) if a person says °1w? 1R NWRI? 03
(b) and then wxn »n2 2w nn
(2) the 17 would be PwxA *w9H 0°051 1711 and not to " “wAav
i) Now
(1) the ax in the case of the maw» who owns the 1°1a m7°o is similar to the
MR

(2) why does o"2"1 say that the o°021 go to a°w"1 of the n»w 32 and not to
o*w7y of the ax

f) The yyn of mooin isn’t relevant to this X"wAin

7) R"wamn at 197981 7"X2
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8)

b)

Xowp

i) Why doesn’t mooin ask 2 xwp directly from ' xn»22 — after all 'x &n>>12 also
says that the o°021 are 7nn to PwRY w1 and not to "1 vy

'aRb

1) Had maoin asked "2 x°wp from 'k ®n>72 we’d be 72791 the Xwp by saying that
in 'R N2 the reason that »1w >wAy aren’t 7917 is that even if *aw had been 7011
in the m~°s the "1 w1 would receive nothing because the jn11 had said
"SYHYH PR

Twnn of the X3 — X w1 Xopw of 7k that nooin will be xan below

a)

b)

11 "1 holds that "n7 7137 PR3 M Iap — woph wo holds that PP R? M 1ap
MT AT

Xwp by 13m0 ' to woph v
i) We established that 'x Xn>>12 says WY w2 0°021 11 Who was mi°o 9

i) But for wp? w1 the o°021 should have been ani to 011 w2 who own the i
so long as *w>%w isn’t 7121 in the A

710 of woph v

i) In'x &n>>12 the o1 said anx and this takes away from the m>va of the 1 as
7171 Hv2 and benefits the m>va of the n7°977 Hva

xowp of "xoin X" by a1 to woph w

i) A separate '2 Xn>12 says 1011 w1 1 even though the na said 7nx
7170 of woph won that mooin will be axan

i) aRp™32

Y27 MIMPYT T°1 RO CIWT TR DIRY 19 PRI T 211997 IR 9 0]
TWRI VW 772 ROX IWD PR MR OROHNA 12 VAR 127 DR 020

ii) So obviously it’s a ©°X1n nP12nn whether "> kxn?7 nR"
7w of prx® 22 mm 20 that nvon will be axan

i) The np1onn between X913 12 1winw 127 and °21 is based on whether mo Pap
MT AT TP

9) nmoon — k2 of the Xwp of "0 kM

a)

This is the xwp by 1am1° " to wop? v

i) | can accept that the np1onn between ') &n>>92 and 'a xn>>12 is based on
whether "n7 7137 77375 Mo 117 we know that o°Rin are p51nn elsewhere on
whether >n7 7137 PIp2 M0 PIp

i) But once you say that 'x xn>>72 is based on 7nX you need to say that "2 n>12
is P2mn because it holds that x> Xn% 7 W7 7 and this is a X°wp because
we’re not otherwise aware of this *Xin np12mn
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b) woph wo answers that in fact from ' xn»22 we know that there is a npyonin between
27 and 2"2wn on whether X7 Xxn%n 7R

10) R"wAnn
a) Nwp

i) Why is it more clear that the np12mn of »27 and 5X°%13 32 WP 127 in '3 XN™M2 s
based on 70X than it is that the np17nn between 'k 8012 and 'a Xxp»™2 s
based on nx

b) y1n based on a 1% and @'k

i) Even for 131 'y who says “n7 7337 1Ip2 md 1ap it must be that 12 nwnw 1297
OXR973 says MWK WY 71 ROX 1w PR" only in a case that involves ank and
only because 2x°%13 12 wnw 127 disagrees with »21 and holds that ®xn%°» onx
X7

i) Here’s proof: our m1wn holds that 2x who owns the n11°s can’t sell the A
ypapn — for 1ame ' the reason must be that m7°s 13p alone doesn’t have enough
mbva to for the m°o77 Hva to sell the A

iii) when prx» 12 11 27 at the end of the X210 says

T°IP2 MO PIP 120 T ROR ONA PRO913 12 PIWRY 127 527 039D KD RO TV
M7 AINT PIPI XD M P°IP 720 Y DT AT

iv) he means that 7x>%23 12 nwnaw 127 holds that because of 7>anx the ny7%o pap
supports a 7171 by the mvo:1 %2 even for woph w1 while »27 says we ignore
the 7>7n& so the Mo 1ip is no different than standard ny7°o 1°ap that can’t
result in a 77901 even for 10 '

11) qwni of ®"wann
a) Nwp

i)  Why does w°p> w1 need to rely on '3 xn»>92 to prove to jam " that a xin holds
that "X>;7 Xn%°n InR"

ii) when wp% w1 can prove the same
(1) by comparing

(@) 'x xn»athat ina case of 7onK says PWRY WA 0°0101 1711 who have
mao IR

(b) Our mawn — as explained by j1m ' according to a"2» in Mmoo — that
holds where ax:1 >>n12 3217 107 the 0°051 are 1 to 327 *wa who had 13
717 and not to ax: *wa who had no pIp

(2) And explaining that 'x xn»92 involves ik while the m1wn doesn’t
involve 7anx

b) y»n

i) If there were no proof from 'x xn»12 that ®X°17 X0 anx we could have said
that in the case of 127 ax in fact jam1° " holds that ax: *w1> 2023 11 —
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which in fact is the 7v°w of o"awn contrary to the 7w w of 2"2>7 mentioned in
the beginning of this x°»10

T 7

720 N1 7ax TN N'tha X7 "N

5'"op "1 RINY 779952 92 BR 12 1T XD 7''72 "o [2 Ty 1R 7]
21'"571 ORIN 3397 921 9IDD IRIN W2 91 ROT 0D PRRAT 2NSw N nuwD R
K2 D07 IRD® 27 37 TR 2TIP ORIN D12 ININT TRV ROT IN
T ANTT RTR 297 KON 17D ROWP KD 091 WK 'R0 TINTY wn
STRVNT MRP ANTT DA K2R TP ROWP KDY 'R 1272 wynY ONIN RO
TARPY RIT 2TIP TRWYR 1D T 1IN 7T MNRD RO DU RINT ORIND 2 7P

:?''N7Y 299 ININT N2

SRR 2N 1D PRWoYK MIND 'Y MINT 9D 20 Na0 Ban 7''N2
PRT 297N 2579927 2oy "D 21PN D''ARY T WS 29PN ORI
RIND QTP TWYR T IPVAT 321 K2 RIT 20T 039D RTN 277 K297 IRM
TOUROR T RD 2'TURT 1RSYM TMIND IRD 2"'YT X927 2190 uen o'y
DS ORI TWYAY 2TIP ORINAT KON NIND 2T TRYR2 RAPIRD
NIDTINT 12NSR 1ADY AN OWNR 27 RAPINTSY PRWOYH IRIND M7 R"'YT 2wn
29 H'RP DR WY TMRIND IND 2"'YT an7 X297 XN207 NN 09 aw
"M271 92 R297 7O0Y RTNR 29 2995 KDY TAR 272 wynY ONIN N7 RIN
D% R MANY 9% P52 ANTT 1ANDW 71T2 23101 PRITRT P''Da NMDenn
272 2''D N2 A1NK 923 AR WY RIND IRD 2"V N7 o7 70T
TARP 91 K29 N7 INTIT AR 2727 2R R PRISYR IRIND 'Y IMINT
R2OR 7ARP 31NN 923 RO77 KON PRIYR MIND IRY 2"'yT 7" o0
299D ROITT X2 19207 IRM 5% RNWSTY WY RIND 2"'YT 7' XnovIT
2T PITT RUTY 1D 299127 R'T72 WY ORIN AN 2T K97 RN 29K
1) First nnpn
a) If a person makes a nwynb *xin
i) o»p X1 means the *Xin must be ompn for the nwyn to be effective
ii) Svaxin means the nwyn is effective even if the *Rin isn’t o™ pn
2) Second nTpi

a) °27 holds that ">»7 »woyn 7R nIn H¥" meaning that even the *xin is ompn after
the nwyn it’s effective as if the *Rin were opn at the time of the nwyn

58



3)

4)

5)

6)

7)

b) 3127 holds ™17 »wayn IR WY NI 5¥" meaning that a nwyn can be effective only
if the °xan is actually o»pn at the time of the nwyn

Third 7P

a) For a xin to be o»p (to be a valid °Xin) it must satisfy these requirements among
others

i) 915NN
i) W22 o7p 17

iii) mwyn? omp *Rin according to 827 in v noon — note that this requirement
doesn’t apply for »27 who says *»7 Pwovn R nin 5y because for »21 the
arp of the *xin and the 7wyn count as happening at the same time

IV) nX 9272 7wy °Rin according to 727K 72 XTX 27 in Pwea ndon — as explained
below

b) The >xinis Hv1 if any of these requirements are missing
Fourth nnTpn

a) An example of nR 1272 7wWYm *Rin is the *Xin of 172187 121 73 °12 where the *Xin is
17797 M2vS and the awyn is anAm 17700 N2y nom

b) An example of TnX 9272 FWYHY RIN IS VAT DR 2 PIANY NI HY T 1 00 where
the *xin is to be 7°1 the v and the nwyn is the v nvon — except that if nin 5y
M7 PWIYn MR this counts as InR 1272 Twyn *Rin because the *xin can be to
return the 271 after the vx was already delivered

Fifth nn7pn

a) n"says that these requirements also apply to >Xin on 1nan "0y
XN»M2 0N YR

a) DNWTAM 37 DR Y INw nan By 7owea At 00 because the sRan is Hva
X7 there

a) X2

i) The >Xin is Hva because the nwyn is *Xin% a7 — as a result the Twx is nwn
even if she doesn’t return the 71

b) 1727R 92 R7KR 20
i) The xn>>n2 follows 1327 that 7 1Pwovn IR WY Nan Hy

ii) It follows that there is no anX 2272 AWy *Xin and that’s why the *Xin is Hva —
and here too the 7wy is nwan even if she doesn’t return the 7°°2

C) °wX21"

i) The &n>>72 holds »»7 Pwoyn IR nan B so there is IR 1272 qwyn *Rin and the
*Rin is in fact op - as a result the nwx is nw=wa only if she is o»pn the *xin by
being 7°mn the 1 after the w1
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8) xama here

a) RY XY 17T XD KXY 1707 07 17N NI DV 730102 77 N3 T ANNR X2 MR
9) mooin

a) Nwp

i) If X271 holds that »»7 wayn 918D 1> nan 5y we have this xwp — even if 59>
win? and the >xan satisfies the requirement of 95 — still there is no 7wym *Xin
IR 1272 because when the %2pn returns the »7nx he no longer holds it to be
N2 >7° XX — S0 the *Rin ought to be va and the %apn ought to be R even if
IRRin R

b) v n

i) ®27in fact disagrees with 727% 12 &7% 27 and holds that »»7 Pwoyn 2R nan Hy
and that’s why for 270K the *Rin is o»p

10) X"wmn at 17ima R A7

a) Since m»oin mentions that 1xin% 793 it’s obvious that noon follows the qvw of
an 121 that all of the requirements for a *Xin apply to 1nn *11v as well as to other
o°171v — and Mooin is Tx¥pn but assumes that all other *Xin requirements were met
for 270K and that’s why maoin asks only its X*wp on nK 9272 7WYN “RIN

11) X"wann at 120 X217 92K 7"K2
a) X°wp to the y11°n of mooIn that X237 holds that *n7 Ywayn IR Ny 5y

i) It must be that X217 holds that »»7 »woyn 1IR3 XY N ¥ because otherwise X2
couldn’t say 0»p RN in Pwx noon because the nwyn there would be *xin% o7p
and instead X271 would have had to say that 502 1xin the same as *wx 21

ii) This also explains why in v noon there is no np12nn between 27 and 87X 20
and both agree that the >xin there is Hv2

b) pPm72 va7°n based on MmN in YA Nodn and PR Noon

i) 1It’s correct that X237 said his &7 in Pw>a noon for the nwvw that RS nan %
"7 PWOYH MRS and that’s why he held the *Xin there is Sva the same as X7& 21
and contrary to the nuw of *wx 27

ii) but X217 in our &3 for »nx follows the 719%7 that »»7 »Pwoyn IR NI %y and
disagrees with XX 21

NP T

NI7'yn Nixa X3 2" n

TT9SWAT 99977 9 T°N2 57 WNTIBY 12 ANEA XD 772 [R MY 19p n7]
N7 RO 2990 AR K97 OWDR IR2 RWIIAT 20 12 MRY ON AT N0
1T 7971 1757 207 K2 KDY RIPODR ANN2 99K 5197 2R ws? D
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R® 179 7307 IN2T 319D ANK HI0aR PR R DWW 29 DaN pon
YN 11029 PR A1 9MAT 23 DY R RDIDH PaN MWDK N2 71nn phne:
SWOR INT 1APY NIDOINT WINDD DaR "1 7huaT 997 907 D' ah 20w D
NDODT MWOR RMY RDVAT 20 1997 AN NI pAwa R BT
DI KD OR DaR RIAD X177 RDT7 0121 9''ah D 19RMR 19927 72 NPT

I2'1Y7Y 29D AR KD INPT RWINT WK IR 95 Wpn SN RO
1) First nnipn

a) If a %apn rejects a mann it’s more 1anon that 11°°p 19927 if he’s &P yn mx than if
he’s X o2y pnw

2) Second TP

a) In acase where 1n»p 1127 and a mann is Sv2 we need to determine whether
the mann is 9poi1 and 191 7P 95 or the mann is 7% A1TR

b) It’s also necessary to be 112n whether it makes a difference that a person is nmx
that 72 *wok °R or that he’s mx that 17%°v2

3) Third an7pi

a) See table '& on the v w of o"awn — as explained by mooin — on a XY ’HPW in
mn>1> noon on whether wop% w1 is p7nn with nww 27 on these ooy

b) Note from the table that
1) nww 21 doesn’t directly deal with Xp>yn mnx

il) in the xR M7 the X3 assumed that where nx 710291 pnw both nww 21 and
wp° w1 agree that pn»>>p 127 but disagree on whether 721 o715 95 or &7
il

'R X920
9R1210 2"awA
maoIna

X 702N Pnw
7702

X oI pnw
72 WO X

AR ROV MY
712 YWOR R

591 PP 12T
791 0TPn

2190 MR R

501 PR 12T
701 2P

wph v

[nww 277 X5°0]
YR 1127

9K 7702 W97
SWOHR XY Ona
ma

RI2R 772)
me RTN

b2 RIpoRa

st AT

[Mww 277 xw™)
2193 IR R

nww 27 77 XY

072 "ar P

"D ORT ORI
Y3 PRYP 2T
X902 7717702 22
MY DWW 207
7MY 77777 RIMR
239 7"opT 1Y
w9 Awp 7o
297 Pt wIph
b> X023 MWW
b''p 191 70T 2TIPR
"7 yoINaT 0

nww 27

4) See table "2 for the 7v°w of mson

a) Note that this nv>w is 7972 the Xw>1 and &9°0 of nww 27 in order that nww 21 holds
2195 R XY if the Hapn said "a2°va" and Pnop 127 if the 9apn said "2 swoR oR"
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b) Note also that nww 27 and wop% wn agree in the xipon that o1 ampn 9o for pnw

72 OWOR R MR Y 102N

5) R"wann

a) See table " for the 2% that would result for moown if there is no 719°7 of the xw™

'3 X720
X 02N PRw | X M0 pnw ARY RAPOVD MY T19°77 °9% MBoIN
1202 72 SWOR X 72 SWOR X MO
521 PP 12T XTI PR 1"IAT wps v
791 o il
IR X2 [Kw™)] ™27 [X9°0] nww 2

nST 017
whn Tova

T PR
779 RITT RIHAR
wPY WML XOwR)
RIT7T XY RIponA

a7pPn 91 N
707

and xo°0 of nww a1

'3 X9V

e Mo pnw

My 7029 pnw

AARY KPP MINX

XY MR X"

703 | a2 WOR R 72 SWOK X MIROIAT 12577
RN
TR TTAT | ROTI PRTR 10T (ralr bR i7en
qpPom hilay)
19727 [X9°0] R XY [Rw] nww 20

PRvp

*WpeN "NIRI 019

wPH W

a) Note that in this 2% the mww of nww 27 and wp% w>a for >R R MIE MO Pw
72 °woRk don’t correspond — instead nww 17 says 2172 AR X7 while woph w1 says
TP 12T

077 a7

121N X OXI AT NIDoIN

KD 79 23 073 @''N92 12172 1912 12972 TR AR X [2 Ty nhp 07]
093 7'"992 K2R 1297 DR P2 77X TPWI 7XT 73O DY 179 1212 MK BN
23129 190 2" WA 39T 3" 2R SWITONA 712 19T 1297 KPK 19 PR 12972

721 2a 0" 1N

NOR "1 RNOMINT Dyam w7 "o 92 van 7''72 nsoIn [2 Ty uhkp T
TR STIABRT RTO0D 21 a3 BRI B''ay "2 IMIR N7 "2 a0 AW
YOI STOWDIR TU0DR 7792 NYDY AIMINND K7D RDINT R2UIT WD 32
23 WWRTS QWNPT RTIVDY 221 023 W KD TP 777N TS WO NN

19''™Y 1IN 30T DY AR BYaT RTI0ENR 1T 9DUT TIADNRT RTO05D Pan
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INY'X DNA A" T NnIvoIin

5o "D 0 7R KD 9D RTO0D ROONT 23 Y N 12 TN ang 1''7a
7327 MARTD TR RD WA T Y9IBRT R PRT ORTY 7R K97 NONT YR
RT ANT TP RWP O 3T ROT R DAN 2w nv0nT 2''0Y "D NN
;2T MIDTINA 'Y AR PR YRR 7718 1A 00 TR WY T
1) First nnipn
a) XnN»MIXTA a 2¥2 has the 17 of a w1 in \nwK 033

b) 7127 were jpnn that Hva has the 17 of a npY% in \nwx *0d1 except that — if X700
would otherwise result either to him or to others and neither 7% was 17> woIx 7091
— the onon make no mapn and leave the xn» X7 1°7 as it was

2) Second TP
a) After a mn is ypp man from the mb

i) The m?%and m> w1 — but not a np1? from the Mm% and not from %va who
counts as a np1? of WK 021 who is a m»

ii) can be nmo the ypap from the m>» — but not from a n» from the m%» and not
from Hya who counts as a i1 of the o°0o1 of 1nwx who is a Mm% and not from
a w1 from the mon

3) mooin
a) Nwp

i) Why aren’t we concerned with m>7 X7°09 and treat v as a w1y in the o°021 of
NwR who is a mom

4) R"wan
a) Nwp

i) It won’t avail to the Mm% even if S¥a counts as a w1 since we’ve established
that m1% can’t be 7710 from a w of the m1%n as well as from a 1% from the
mon

i) This is what moon should have asked
(1) The reason nv2:1 %va can’t be 77 is because va counts as np1?
(2) But to avoid x7°05 to him why don’t we treat him as a w-
oM W 79y 1T
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